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Examination Name KVS PGT COMPUTER SCIENCE

Exam Date & Time 23-02-2023 03:00:00

Subject : GE_Q01-Q10_PGTCS
Question ID:- 1

NOTABLLE

Choose the word similar in meaning to the one given above.
(1) Prosperous

(2) Comfortable

(3)  Distinguished

(4 Average

Options:-

.1, OptionID :- 1,

« 2, Option ID :- 2,

. 3, Option ID :- 3,

. 4, Option ID :- 4,

Answer Given:- 3, Option ID : -3

Question ID:- 2

OBSCUREL

Choose the word opposite in meaning to the one given above.
(1)  Ponderous

(2)  Thoughttul

(3)  Heedless

(1)  Apparent

Options:-

.1, OptionID :- 5,

« 2, Option ID :- 6,

.« 3, Option ID :- 7,

. 4, Option ID :- 8,

Answer Given:- 4, Option ID : -8

Question ID:- 3
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Identity the part of speech ot the underlined word in the foﬂt_wving sentence.,

[ cannot give him credit for this.

(1)  Preposition
(2)  Adverb

(3)  Adjective
(4)  Interjection

Options:-

.1, Option ID :- 9,

. 2, Option ID :- 10,

« 3, Option ID :- 11,

« 4, Option ID :- 12,

Answer Given:- 1, Option ID : -9

Question ID:- 4

Many aspire for greatness.

Choose the option in which the Voice in the above sentence has been correctly changed into Passive
Voice,

(1) Greatness is being aspired by many.

(2)  Greatness is aspired by many.

(3)  Greatness has been aspired tor by many.

(4)  Greatness is aspired for by many.

Options:-

.1, Option ID :- 13,

« 2, Option ID :- 14,

« 3, Option ID :- 15,

. 4, Option ID :- 16,

Answer Given:- 1, Option ID : -13

Question ID:- 5

Hari said to me, “T want to help you.”

Choose the option in which the above sentence has been correctly changed into Indirect Narration.
(1)  Hari told me that I wanted to help vou.

(2)  Hari told me that he wanted to help you.

(3} Hari told me that he wanted to help me.

(4)  Hari supported me with an offer of help.

Options:-

.1, Option ID :- 17,

. 2, Option ID :- 18,

« 3, Option ID :- 19,

. 4, Option ID :- 20,

Answer Given:- 3, Option ID : -19

Question ID:- 6
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Choose the option in which the tollowing words/ phrases have been rearranged to form a meaningtul
and grammatically correct sentence.

(/) to the

(B)  we should

(C)  ourselves

(D) accommodate

(E)  circumstances

(I (A Q) (B) (D) (L)
(2) (O (B) (D) (A) (E)
(%) (B) (D) (C) (A) (E)
(4) (D) () (A) (B) (C)
Options:-

.1, Option ID :- 21,
« 2, Option ID :- 22,
« 3, Option ID :- 23,
. 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23

Question ID:- 7

[dentity the part of the following sentence which has an error in it
All kinds / of stationery / is / available here.

(a) (b) () (<)

1) (o)
) (b
3 (9)
(h (d)

Options:-

.1, Option ID :- 25,

. 2, Option ID :- 26,

« 3, Option ID :- 27,

. 4, Option ID :- 28,

Answer Given:- 3, Option ID : -27
Question ID:- 8

Fill in the blank in the fuﬂtm-'ing sentence by choosing option out of the given ones.

He did not come to the party, ?
(1)  wasn't he

(2)  didn't he

(3} was he

(4)  did he

Options:-
.1, Option ID :- 29,
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. 2, Option ID :- 30,

. 3, Option ID :- 31,

. 4, Option ID :- 32,

Answer Given:- 4, Option ID : -32
Question ID:- 9

Fill in the blank in the tollowing sentence by choosing option out of the given ones.

Rita her seat m the class.
(1) dropped mto

(2)  dropped off in

(3)  tell in with

(4  goton with

Options:-

.1, Option ID :- 33,

« 2, Option ID :- 34,

. 3, Option ID :- 35,

« 4, Option ID :- 36,

Answer Given:- 4, Option ID : -36
Question ID:- 10

Fill in the blank in the tollowing sentence by choosing option out of the given ones.

OUne should not be devoeid decency.
(1) of

(2) on

{(3) off

(4) into

Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38,
. 3, Option ID :- 39,

« 4, Option ID :- 40,
Answer Given:- 1, Option ID : -37

Subject : GH_Q11-Q20_PGTCS

Question ID:- 11
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el fou 7o T w g Haifies 3tad faehed @ =a_ Sifan -

Tl L S TR & oAl ae S R YO 1 SvERL d SH R 2 e e 29 A 4 i agd
AETIR 2-5 AE0 H 901 1 TR @A g S | IR F W & g seeed 2 2 | gHfer 76
T4 Toren 3R g F7ea =1 T & =mfeu )

FAEF H ] G S oA
(1) @ % TEA-Hed H1 aiH
(3) M TSR R Sl

(4) T F HEA-TE F

Options:-

.1, Option ID :- 41,

. 2, Option ID :- 42,

« 3, Option ID :- 43,

. 4, Option ID :- 44,

Answer Given:- 2, Option ID : -42

Question ID:- 12

= fau 70 TENW i UgehT Haitires stea famed @ wEe sita -

el ATFL ST TE o AN A SAE R WA B AvEeht H SHE Rl § ok e 99 H w1 = T
AETTF E-90 AHE0 H 91 1 THR A1 40 ST | WFd 1 W B g6 SA9iEd 81 € | 3Hian g6
S Tl 219 =T Hed 1 W= e J1en

FHIA-HI T =Ad AHF FEl T2 7 2
(1) Toregn =1 TorEm AR S Ao
(2)  fomem =1 wER 3T s are
(3) M W=l #A1 9iHE 9

(4)  Af"F F2a AR FE gl

Options:-

.1, Option ID :- 45,

« 2, Option ID :- 46,

« 3, Option ID :- 47,

. 4, Option ID :- 48,

Answer Given:- 2, Option ID : -46

Question ID:- 13
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= fau o Ty i uget waitiren faa fasmeg @ =g sifau -
7 3R 3T 42l kAT A S R WOTE w1 2wt H A el § o e S A @ i @ga
ATEITHE F-50 AE § e 1 9Hn 1 9fiE s | aWd 1 9 5 g seted 8 F | gEfer 2

(1) Torgr =1 gemr
(2)  A® H124
(3) IR

(4)  RIE quired

Options:-

.1, Option ID :- 49,

. 2, Option ID :- 50,

« 3, Option ID :- 51,

. 4, Option ID :- 52,

Answer Given:- 3, Option ID : -51

Question ID:- 14

= o0 T T Rt ugent Haities stud famnen @ eEa it -
Tl ZATFT ST FE o AN A9 SR R WA ] Avg 1 SHE A G R e 29 6w = wgd

AFTFER - AHE H {91 ] WHE #A AHE SRl | TR I e S 2l 2 | sHien 2
i feran i g Hvea o wgm & =fgu

TR AR 2 fEfatEa § 3w #3 wR EvEEdl § 2
(1) =it =1 SR 2

(2) |l &l fafsa s

(3) Al ® SAR g

(4) A H g SIS Sl

Options:-

.1, Option ID :- 53,

« 2, Option ID :- 54,

« 3, Option ID :- 55,

. 4, Option ID :- 56,

Answer Given:- 2, Option ID : -54

Question ID:- 15

pgtprime.com



Options:-

.1, Option ID :- 57,

« 2, Option ID :- 58,

. 3, Option ID :- 59,

« 4, Option ID :- 60,

Answer Given:- 1, Option ID : -57

Question ID:- 16

Options:-

.1, Option ID :- 61,

« 2, Option ID :- 62,

. 3, Option ID :- 63,

. 4, Option ID :- 64,

Answer Given:- 2, Option ID : -62

Question ID:- 17

‘w7 -

(Ly =
(2) 7™

(3) TH=A
(4) ZAH
Options:-

.1, Option ID :- 65,
. 2, Option ID :- 66,
. 3, Option ID :- 67,
. 4, Option ID :- 68,
Answer Given:- 2, Option ID : -66

Question ID:- 18

T B
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‘qurg w1 S -faws E -

(1) d=+3Ts]

(2) -

(3) A3

(4) T+
Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,
« 4, Option ID :- 72,
Answer Given:- 3, Option ID : -71

Question ID:- 19

(1) 3¢, ¥
(2) 3=, T
l:_."i) ek T4 N :'EFIL:JGU
(4) 33U, 3cht
Options:-

.1, Option ID :- 73,
« 2, Option ID :- 74,
. 3, Option ID :- 75,
. 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73

Question I1D:- 20

(1)  *H-=HH
(2)  &H-ER

(3)  TEY-TTHT
(4)  FIA-FHRT

Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
« 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 4, Option ID : -80

Subject : GA_Q21-Q30_PGTCS

Question ID:- 21

TeAH-T=HE ] 5TETd e B -
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(1) President

(2)  Supreme Court

(3)  Parhament

(4) Attorney General of India

(1)  ¥mzaid

(2) I=dHdH A=

(3) #HHS

(4)  Ivd ] HEFHEAE]
Options:-

.1, Option ID :- 81,
« 2, Option ID :- 82,
« 3, Option ID :- 83,
. 4, Option ID :- 84,
Answer Given:- 1, Option ID : -81

Question ID:- 22

(2)  West-Coast canal in Karnataka
(3)  Ganga river between Allahabad and Haldia

(4)  Narmada river in the area over Last West canal

A H Herd el Selqn & -5 7 ?
(1) =ifean 5K el & dig seagd =dl
(2)  wAZE § uieEs 92 1w

(4) TE-TTEA TR R S F A e 6l

Options:-

.1, Option ID :- 85,

. 2, Option ID :- 86,

. 3, Option ID :- 87,

. 4, Option ID :- 88,

Answer Given:- 3, Option ID : -87

Question ID:- 23

Who among the tollowing has the power to grant Pardons as per the Constitution of India *

WA o HiEaE & A FefafEd § 5 0 aw F0 # 9l qwm w77

Which among the following is the longest waterway in India ?

(1) Brahmaputra river between Sadivaand Dhubri.

>
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.1, Option ID :- 89,

« 2, Option ID :- 90,

« 3, Option ID :- 91,

. 4, Option ID :- 92,

Answer Given:- 3, Option ID : -91
Question ID:- 24

Which of the following was tounded after independence in India ?
(1) Tederation of the Indian Chamber of Commerce and Industries
(2)  All India Democratic Women's Association

(3} Indian Industrial and Commercial Congress

(4) Depressed Classes Association

fAfertaa o+ e 24199 9Wd & A6 & 9 5 2
(1) wdma a2 sam afeds (weE siE g $femm ey o s de g2ei)

(2) AT WEATH TR AiEe H9 (A 229 SR g THTHuIE )

(3) WA #ArENfTE iR s w=5E (2fem f2fea i s F0a)
(4) =fera =71 w4 (fewe Fartas TataeE)

Options:-

.1, Option ID :- 93,

. 2, Option ID :- 94,

. 3, Option ID :- 95,

« 4, Option ID :- 96,

Answer Given:- 2, Option ID : -94

Question ID:- 25

The diffusion of iron in Crystalline and metamorphic rocks results i soil developing a colour
(1)  Blackish

(2)  DBlush

(%)  Reddish

(4)  Greenish

TRz ST = =922 | A8 ® fEE & T T ®i T2t faswiaa 2 T 21
(]_} r-h (ainf

(2) A

(3) e

(4) =
Options:-
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After the Lahore session of Congress, 2658 January 1930 was declared to be celebrated as which of
the following in India ?

(1)  National Umity Day

(2)  Independence Day

(3} Swadeshi Day

(4)  Home Rule Day

FIH F AR SAETE F AL, 26 Fa, 1930 F uRE ° fFE 59 % w9 1 mEen s it e T e
(1)
2) A faad
)
)

T U] feAd

Options:-

.1, Option ID :- 97,

« 2, Option ID :- 98,

« 3, Option ID :- 99,

. 4, Option 1D :- 100,

Answer Given:- 4, Option ID : -100

Question ID:- 26

Who was given the ‘Satyajit Ray Lifetime Achievement Award’ in the 53™ International Film
Festival of India (IFFI) 2022, held mn 2022 ?

(1)  Fernando Trueba

(2)  Alejandro Amenabav

(3) Carlos Saura

(4)  Julio Medem

FT 2022 § =AEeE 5
gAtate a7arg’ fFd
(1) w2 el

(2) HTETSIg] STHAE

(3) i A
(1) Sfern T=m

Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
« 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 4, Option ID : -104

19 AR A Thed Jeedd (3. 0% 0%, 378, ), 2022 1 HJeqslid 1 TE% 2181
IERIRIRIN
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Question ID:- 27

When was the birth anmiversary of Dr. Rajendra Prasad, the Hrst President ot India observed ?
(1) 26 November 2022

(2) 30 November 2022

(3) 3 December 2022

(4) 5 December 2022

U T8¢l Te2afd 2. o2 THE &l FHdl &e 7R T8 7
(1) 26 F9wL, 2022
(2 50 FFWE, 2022
(3) 3 feawse, 2022

(4) 5 fadr, 2022

Options:-

.1, Option ID :- 105,

. 2, Option ID :- 106,

« 3, Option ID :- 107,

. 4, Option 1D :- 108,

Answer Given:- 2, Option ID : -106
Question ID:- 28

Which book was awarded the Bal Sahitya Puraskar 2022 in English language category 7

(1)  Ramayana for Children

(2)  Mahabharata tor Children

(3)  Two - Epics - - One. The Ramayana for Children (The girl who chose) and the Mahabharata
tor Children (The Boys whe Fought)

(4)  The Forbidden Forest

SIS A9 39 T 2022 1 916 "8 TERE hE T5F &l 95 ) 7 ?

(1)  TTHPE0 =g

(2)  HgHEd Wi =eed

%) Z-ufrEd e, T e sk feeea (6 2 99 1 T mema s faeed (2 = 2 )
- = Q_ 4

(4) Tz wrfg=a ez

Options:-

.1, Option ID :- 109,

. 2, Option ID :- 110,

« 3, Option ID :- 111,

. 4, Option ID :- 112,

Answer Given:- 3, Option ID : -111

Question ID:- 29
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Who ranked first in the medal list in the 36 National Games held in Gujarat in September -
October 2022 7

(1)  Maharashtra

(2)  Harvana
(3}  Karnataka
(4

4)  Service Sports Control Board

oI | A - SR, 2022 H S AETS 36 F T WAl J 95 qlieishl 3 FH Teel T 9 8 2

(1) TR
(2) =
(3) HAEE

Options:-

.1, Option ID :- 113,

« 2, Option ID :- 114,

« 3, Option ID :- 115,

. 4, Option ID :- 116,

Answer Given:- 1, Option ID : -113

Question ID:- 30

Where do we use wires that melt quickly_and break when large electric currents pass through
then 7

(1}  Electric Iron

(2)  LElectric Fuses

(3)  Llectric Kettles

(4)  Gevsers

TH 2 1 1 FE WA w0 e faw O 5 e wm T Seat # e 72 5 E 2
(1) Tastell 1 U5 (gafas 0w)

(2) Tasel & W (TelfaE W)

(3)  Tastell ol shaell ( getldger el )

(4) s
Options:-

.1, Option ID :- 117,
« 2, Option ID :- 118,
. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 2, Option ID : -118

Subject : RA_Q31-Q35_PGTCS
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Question ID:- 31

How many 2's are there in the tollowine number sequence, each ot which is preceeded and
g, (&)

succeeded by T 7

rz1r121r22112121121221

(1 4
(2) 3
(3) 3
4) 2

e Tou 0 o e ° U 2 F G A B 9 9 e o Tee 1 e | 1 3 8l Y

rz21121 2210121211212 21
(4
(2) 3
{(3) 5
(4 2
Options:-

.1, Option ID :- 121,

« 2, Option ID :- 122,

. 3, Option ID :- 123,

. 4, Option ID :- 124,

Answer Given:- 3, Option ID : -123
Question ID:- 32

From his house, Atul travels 10 kms to the east. Then he turned left and covered 5 kms and then
he turned right and covered 6 kms. He turned again to his lett and covered 5 kms. He then turned
to his left and covered 20 kms. Finally, he turned to his right and covered 5 kms. In which
direction is he from his starting point ?

(1) North-Cast
(2) South-East

(3} South-West
(4) North-West

ATA AT R EH 10 fF 7, 93 5 =ear # {5 o ard 68 g0 § 97 5 T, 77 Fwa & SR 6 a1 9
T 6 TR T T Fa 1 A% R s A W) e 5 L 9 e B0 e 3w A =l i gmen
% 5ite 20 b 01 o1 kel 31 i H A Sral T SIS E A 5 R L 9 R R AR S s g
H frg fam = g7

(1) -

(2) =l

(3)  afem-dfe=y

(4)  FTE-qivEH

Options:-
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.1, Option ID :- 125,

. 2, Option ID :- 126,

« 3, Option ID :- 127,

. 4, Option ID :- 128,

Answer Given:- 4, Option ID : -128
Question ID:- 33

L M N, O P Qand R are sitting m1 a lme facing West but not necessarily in the same order.
‘0" 1s on the immediate right of ‘N "M’ 15 at an extreme end and has 'p’ as his nerghbour. R’ 1s
bertween I and Q. O is sitting third from the south end.

Who is sitting in the middle ?

(1) L
(2) N
(3) P
4y  Q

L, M, N, O, P, Q # R Wfg=s 1 41 g &9 Uk Uiad d 42 2 fhgd sl %9 9 = J2 10, 'N' F
T 70 TR AR &1 M UF a9 TR W E ST P SEE T=E ELCR, P AR Q wAE T E ) O gl
EIEE AR -¥,

(1) L
(2) N
(3) P
4 Q
Options:-

.1, Option ID :- 129,

. 2, Option 1D :- 130,

. 3, Option ID :- 131,

. 4, Option ID :- 132,

Answer Given:- 4, Option ID : -132
Question ID:- 34

Given below is a question followed by two statements numbered T and 11, each containing some

information. Decide which of the statement(s) 1s/are sufticient to answer the question.

Q:  What is the code for “Hlowers” in the code language ?

(I): In the same code language, ‘tlowers are good’ is written as ‘mot det mic’.

(IT) = In the same code language, ‘they like flowers” is written as “det nik shi’.

(1) The statement (I} alome is sutficient to answer the question while statement (11} alone is not
suftficient

(2)  The statement (11} alone is sufticient to answer the question while statement (1) alone is not
sutficient

(3)  Both statements (I) and (IT) together are necessary to answer the question

(4)  Both statements (1) and (1I) are not sutficient to answer the question.
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[ &

AT T W T T TSR wE wl e 1R 11 TR T E TS Wi o e STeEnl A T B 1 # e
FITSU T -5/ oA 997 &1 30 51 & fau 7| 82

v @i il H “flowers o o7 o1 &2 2 7

A (I): 3H FHe 9 H, ‘flowers are good’ 1 ‘mot det mic’ F &9 fomg s # )
e (1) ;31 e 491 H “they like flowers’ #1 ‘det nik shy’ % &4 H (@1 STl 2 |

(1) @A (I) STehel 9 &1 I a4 & (o7 T & Fais & (1) dehel 997 721 2 |
(2) A (1) TR W99 1 398 94 °F [ T | SEE A (1) 9ErE 1@l

(3) M (1) 3 (1), ZH fTem 999 &1 39 o1 F fau JEvas 2

(1) FoA (1) 20 (1), <F 99 #1324 & for gt @l

Options:-

.1, Option ID :- 133,

« 2, Option ID :- 134,

. 3, Option ID :- 135,

. 4, Option ID :- 136,

Answer Given:- 3, Option ID : -135
Question ID:- 35

In the diagram given below, triangle represents men, cirele represents non-educated, square
represents sports persons and rectangle represent married.

3

How many non - educated married women who are not sports persons are there ?

(1 6
(2) 7
(3) 8
(4 9

pgtprime.com



=1 feu o s H, e gEE W, ge sttt # v feenteal # T sraa el = wfatafae wmw
z

5
Tt fRaHt sAfwfer faafed wfeand € 5 faangt 44 27
(1 6
(2} 7
(3) 8
(4 O
Options:-

.1, Option ID :- 137,
« 2, Option 1D :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PGTCS

Question ID:- 36

An input device which comprises of an exposed protruding ball held by a socket having sensors
for detecting ball's rotation tor capturing input is :

(1)  Touchpad

(2)  Track ball

(3)  DPointer

(4)  Sensor ball

T T T2aEd, T g9 el #dd & 60 =fia & 29 F1 T401 @04 g U Hed T Hidhe § U

TRTIRE WS W el €, Faerndl ©
(1)

(2) I

(3)  wE

(4)  H9 Fa

Options:-

.1, Option ID :- 141,
« 2, Option 1D :- 142,
. 3, Option ID :- 143,
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. 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144

Question ID:- 37

A word processing software best suited for creating documents with graphical elements like images,
text and hyper texts is :

(1)  Notepad

(2)  Wordpad

(3)  MS-Word

(4) Note text

THS, 22 B FEWIHE SFH UThIHA UEHIH & Wi SieHe @ g HallEe IwE de-HEiET
ATFEET FE A1 E 2

(1) Awmie
(2) FEUS

(3) THTH-FE
(4) AT TE

Options:-

.1, Option ID :- 145,

. 2, Option ID :- 146,

« 3, Option ID :- 147,

« 4, Option ID :- 148,

Answer Given:- 3, Option ID : -147
Question ID:- 38

When 1 connect all computers of my school together to share resources like printers, what tvpe ot
network s tormed ?

(1) PAN
(2)  MAN
(%) LAN

(4 WAN

A H AT T o Wl Freed ot ST HHEIEA] ] @] A oF (o0 U Y SrSal g d & H 2
EECIN-

(1) ™ 7T (PAN)
(2) UH U T (MAN)
(3)  TE A (LAN)

(4 =THF TUT (WAN)
Options:-

.1, Option ID :- 149,
. 2, Option 1D :- 150,
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. 3, Option ID :- 151,

. 4, Option ID :- 152,

Answer Given:- 1, Option ID : -149
Question ID:- 39

Which of the following is not a cloud storage service ?
(1) Google Drive

(2)  One Drive

(3) 1 Cloud

(4)  Hybrid Cloud

Fr=fafEa O 9 &0 9 T% doss =0 A T8 & 7
(1) 7Tt gEd

(2) =1 grd

(3) % FEE

(4) =ElPe #Ee

Options:-

.1, Option ID :- 153,

. 2, Option ID :- 154,

« 3, Option ID :- 155,

« 4, Option ID :- 156,

Answer Given:- 4, Option ID : -156
Question ID:- 40

Bullving people online on social media, messaging platforms or gaming plattorms is known as :
(1) Online bullving,

(2)  Cyber bullving

(3)  Cyber stalking

(4  Phishing

Tr9Te HitZan, BHIE w2 A1 T W2 T S TASA e R ST A Feedl € 7

(1)  HiFens =feia
(2) ATz e
(3)  ATzE 2riehT
‘:4} r*r :‘W-

Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
« 3, Option ID :- 159,

« 4, Option ID :- 160,
Answer Given:- 2, Option ID : -158
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Subject : UL_Q41-Q55_PGTCS
Question ID:- 41

What do you mean by *Development’ m child’s growth ?
(1) Itis a qualitative change while child is growing,.
(2)  Itis a quantitative change while child is growing,.
(3} Ttis an irreversible quantitabive change.

(4) Itis a reversible quantitafive change

ATAE H1 Hafg 1 s’ | w9 o ae g o7

(1) @8 e #1 Hgig F9 H B [0 9iEid ¢ |
(2) A2 st ol Hlg e H Ertaren aREes qiedd 2 )
(3)  He sEgehyuila gitunieds ufisd 21

(4) A% =HepHuiE afmEmeTs giEad 2

Options:-

.1, Option ID :- 161,

. 2, Option ID :- 162,

« 3, Option ID :- 163,

« 4, Option ID :- 164,

Answer Given:- 1, Option ID : -161
Question ID:- 42

Which one of the following is not a social skill among children ?
(1)  Showing atfection to triend.

(2) Sharing food with peers.

(3)  Plaving with children.

(4)  Dustribution of birthday sweels.

fr=Aitpa o 9 = IR w1 T F 9 TRl 2
(1 T 3 9fa 17 uee

(2)  THFATE SR & W S T H

(3)  STcTehl o 19 el

(4) == faa w2 fse faam

Options:-

.1, Option ID :- 165,

« 2, Option ID :- 166,

. 3, Option ID :- 167,

. 4, Option ID :- 168,

Answer Given:- 1, Option ID : -165

Question ID:- 43
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Awareness of ‘Right and Wrong” by a child falls under :
(1) Moral domain

(2)  Social domam

(3} TPhysical domain

(4)  Emobonal domain

ITAE | HE 3T s o = EitRd § ° fRE A o 3T A e ?
(1) ifen &7
(2} A A
(3)  oitfaw 4=

Options:-

.1, Option ID :- 169,

« 2, Option ID :- 170,

. 3, Option ID :- 171,

. 4, Option ID :- 172,

Answer Given:- 1, Option ID : -169
Question ID:- 44

The sensory development like ‘smell” falls under which domain ?
(1) Communicative domain

(2)  Adaptive domam

(3)  Physical domain

(4 Social domain

“gror’ S Haa fawm feited § 3 59 49 % A we E 7
(1) HE 473

(2)  FF WA

(2 oA e

(4) AT &

Options:-

.1, Option ID :- 173,

. 2, Option ID :- 174,

. 3, Option ID :- 175,

. 4, Option ID :- 176,

Answer Given:- 3, Option ID : -175

Question ID:- 45
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Which one of the tollowing characteristic feature is prominent among *Adolescents’ ?
(1)  High degree ot concentration

(2)  Good degree of commitment

(3} Freedom and Revolt feeling

(4) Shows sympathy to everyone

faeifea O 9 =9 O sy favma ‘faom G oga & 2
(1) =FcAfaH T
(2) 39 =1 =] YidqEga

(3) T & fagE = A

(4) ek =Aidd ok ufd HErvia & gev

Options:-

.1, Option ID :- 177,

« 2, Option ID :- 178,

« 3, Option ID :- 179,

. 4, Option 1D :- 180,

Answer Given:- 3, Option ID : -179
Question ID:- 46

What could be the major challenge to tackle adolescence in school ?
(1) Restlessness

(2) Low attention

(3)  High degree of wisdom

(4 Aggression

fegemmeral o T =i FuEsy | 724 © Wi JAEl # 28 Hhdl 8 7
(1) ==

(2) = H F
(3) ¥ Wl
(4)  =ATshTHERA

Options:-

.1, Option ID :- 181,

. 2, Option ID :- 182,

. 3, Option ID :- 183,

. 4, Option 1D :- 184,

Answer Given:- 4, Option ID : -184

Question ID:- 47
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As a teacher, what would vou suggest to a parent to deal with their children to enhance
learning, ?

(1)  To buy more relevant books and ask them to read.

(2)  To seek counselling trom experts.

(3)  To spend quality time, by both parents.

(4)  To give them pocket money as incentive for studying,.

HATTF F B G A9 H@- 941 1 5797 seAan] % A 9ty o Ha9 § a2 g 21 7

(2) == fagwE 9w o o fan wa

(3 HE-Tar a1 ] "= W\ OeE J9 A A T e

(4)  HAYPH & F2d AedEA & w0 H 3% Ui OH 29 T wE

Options:-

.1, Option ID :- 185,

. 2, Option ID :- 186,

. 3, Option ID :- 187,

. 4, Option ID :- 188,

Answer Given:- 3, Option ID : -187

Question ID:- 48

What 1s secondary sociahsing agency ?

(1)  Home

(2)  School
(3)  lLamily
(H)  Media

Options:-
.1, Option ID :- 189,
« 2, Option ID :- 190,

. 3, Option 1D :- 191,

. 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190

Question I1D:- 49
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Which one of the following steps would enhance learning in a child ?

(1)  Regular interaction of parents with teachers on a child’s activities at home.
(2)  Regular PTA meetings.

(3)  Promote co-curricular activities.

(4 Special counselling to the child by experts.

fA=ifra ° & Ta #en & woasy Fras & AR F 9hg 2 2

(1) ¥ W F= & FEFAT & a1 H ([ ) WA e A AR F A T
(2) Toafga w9 | AfvaEs 89 S99 &1 5ad & AT

(3) HE-T2IEE FEEHAT F FRE 2

(4) F “. :r-.,m f\vr;?‘l.fi ~ 1.- p:\*’ _

Options:-

.1, Option ID :- 193,

« 2, Option ID :- 194,

« 3, Option ID :- 195,

. 4, Option ID :- 196,

Answer Given:- 2, Option ID : -194

Question ID:- 50

How does home play a vital role to support school ?

(1)  To guide teachers and school management,

(2)  Home can extend financial support to school.

(3) By reviewing school activities at home and offer constructive suggestions.

(4} DBy organmising community programmes by children.

foeTeT 1 WeAm <4 § 8 &l M THE H TEw=qy Jims g ?
(1) HA=AMFRIS AR [F2e™ & 968497 H1 qricei

=

(2) =R Y Tammer @ Tadirg werge & 5 g §
(3) = 9L faenerd a1 afdfafedi sl aulla ek 9T TR 3 St

(4) FCTERT BN HIETH AT ] S

Options:-

.1, Option ID :- 197,

. 2, Option ID :- 198,

. 3, Option ID :- 199,

. 4, Option ID :- 200,

Answer Given:- 3, Option ID : -199

Question ID:- 51
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[t is the responsibility of which ot the tollowing socialising agencies to provide happy and positive
growing environment tor effective learning :

(1}  Media

(2}  School

(3} Family

(4) Teachers

.

Tyl A F fau HEe 3R T S w1 "Ee qem i F alfae fefea 1 o9 g

(1) SFH=R AEd
(2)  fagamer
(3) =R

(4)  SATFEIR

Options:-

.1, Option ID :- 201,

« 2, Option ID :- 202,

. 3, Option ID :- 203,

« 4, Option ID :- 204,

Answer Given:- 2, Option ID : -202

Question ID:- 52

What are the 'Developmental tasks” in a child’s growth ?

(1) The activity performed by a child

(2)  The skill which 15 demonstrated daring childhood.

(3}  Learning of life skills at the appropriate time and stage of childhood

(4)  The task to be accomplhshed at early childheod

ATAE H1 Hafg J fammens w5 #7917 7

EIGENHL Hb'-lll[:i_ﬁ FHTAFEAT

(1)
(2)  AHER H 95 e
(3)

)

FTF TA TS A &, Ta =5 SiEE R At
) J:Pi]EE I N G f{. —Ej__{[ ra:‘ ‘[3‘ [ ;ihﬂ (T'-]‘. =2 zli

Options:-

.1, Option ID :- 205,

. 2, Option ID :- 206,

. 3, Option ID :- 207,

. 4, Option ID :- 208,

Answer Given:- 3, Option ID : -207

Question ID:- 53

pgtprime.com



Which one of the tollowing could be attributed to psycho-motor domain of a child ?
(1) leeling

(2)  Thinking

(3} Cycling

(4 Crying

=g O 9 f&9 ads & TA0as &9 & Ha 2 5 JFdl § 7

(1) =
(2) T+
(3)  =EFEE =
(4) T

Options:-

.1, Option ID :- 209,
« 2, Option ID :- 210,
« 3, Option ID :- 211,
. 4, Option ID :- 212,
Answer Given:- 2, Option ID : -210

Question ID:- 54

The following example could be related to cognitive learning of a child :
(1)  Explormg types of plants in garden

(2)  Dancing

(3)  Singing

(4 Cryving

fr=ifma o A 53 2= &1 Fed & FaAeaE JIETH § Sag [ S Jehdl § 7
(1) =0= 4 9159 & HeRld @l 9l oA

() A
(3) I
(4) T
Options:-

.1, Option ID :- 213,
. 2, Option ID :- 214,
. 3, Option ID :- 215,
. 4, Option ID :- 216,
Answer Given:- 1, Option ID : -213

Question ID:- 55
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Adolescence is the phase between :
(1) 15- 20 vears
(2) 18- 21 vears
(3)  10- 19 vears

(4 21 - 25 vears

P -

feperrasen e O | fod 79 o7 =] el a1 5 7
(1) 15320 a4 F &=
(2) 18 #2194 & =
(3) 10919 =% *F ==
(4) 21925 a4 & €=

Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
« 3, Option ID :- 219,

. 4, Option 1D :- 220,
Answer Given:- 3, Option ID : -219

Subject : UTL_Q56-Q70_PGTCS

Question ID:- 56

(1) Understanding
(2)  Thinking

(3} Learning

() Feeling

(1) HHA
2y T4
(3) Aty
(4) erefd
Options:-

.1, Option ID :- 221,
. 2, Option ID :- 222,
« 3, Option ID :- 223,
. 4, Option ID :- 224,
Answer Given:- 3, Option ID : -223

Question ID:- 57

The change 1 behaviour is commonly kiown as:
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‘Learning’ is a mental activity comes under :
(1) Behavioural theorv of learning

(2)  Constructive theory of learning

(3)  Comnective theory of learning

(4) Cognifive theory of learning

o

‘gt v THMEE T B R fAetea 0§ T s 3T 2

18

(1) AT = =g He
(2 SAfIE @ T e
(3)

)

7t =R AHEaar TaEd

E’H_FCFTJ:[ k] H ..a MRSED r-;l;lu,i;].i

Options:-

.1, Option ID :- 225,

« 2, Option ID :- 226,

« 3, Option ID :- 227,

. 4, Option ID :- 228,

Answer Given:- 4, Option ID : -228

Question ID:- 58

The student-teacher relationship is better in :
(1)  Constructivism

(2)  Behaviourism

(3)  Cogniivism

(4)  Connectivism

ferenedl - st Wiy freaifa O A fFad o=@ 2 2

(1) TS

(2) HUERETR

(3)  HIHFHAEE

(4) HHFER
Options:-

.1, Option ID :- 229,
. 2, Option ID :- 230,
. 3, Option ID :- 231,
. 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59
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How could learning be enhanced in classroom ?
(1)  Through motivation

(2)  Through trequent testing

(3) Humour

(4)  Through drilling

(1) @I & 9rem 9
(2)  AR-AR 9isv o Ay o
(3) @ & gy

(4) =R =k A

Options:-

.1, Option ID :- 233,

« 2, Option ID :- 234,

. 3, Option ID :- 235,

. 4, Option ID :- 236,

Answer Given:- 1, Option ID : -233
Question ID:- 60

What 15 the sigmiticance of ‘Assessment” in classroom ?
(1) Support and remediation

(2)  Measurement of learning level

(3)  Lvaluation of understanding

(4)  To know the progress of the child.

HEA T Y JHETE

(1)
(2)  HHTH F=E ] HI9A
(3)  HWH I oI

)

AleAdh okl YIITd ST

Options:-

.1, Option ID :- 237,

. 2, Option ID :- 238,

. 3, Option ID :- 239,

. 4, Option ID :- 240,

Answer Given:- 4, Option ID : -240

Question ID:- 61
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What 1s "summatve assessment’ ?

(1)  Carried out at the end of academic vear.
(2)  Carried out every month

(3)  Paper - pencil test

(4)  Oral test every day

FHTHATTHE oA (TH U) #18 7

(1) =% Heaiha eafoes ad & =id H faa s 2
(2) A% Hedisd Yedss HiE | TwE] S 2
(3)  FE FHFTE-dfEe T 2

Options:-

.1, Option ID :- 241,

« 2, Option ID :- 242,

« 3, Option ID :- 243,

. 4, Option ID :- 244,

Answer Given:- 1, Option ID : -241

Question ID:- 62

What could be the demerit of using [CT tools in classroom ?
(1) Impairment of independent thinking

(2)  Costly tools

(3)  Late bloomers can not understand.

(4)  Children will be addicted to technology.

(2) A STEIY HE F |
(3)  faeta A fasfizg &M Al areis 2hc wegy 9 98 aH dehd F |
)

T oh] WAL 1 G & 92 S |

Options:-

.1, Option ID :- 245,

. 2, Option ID :- 246,

. 3, Option ID :- 247,

. 4, Option ID :- 248,

Answer Given:- 1, Option ID : -245

Question ID:- 63
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Which one ot the tollowing could be Audio- Visual instructional material in classroom ?
(1) Radio

(2) Television

(3)  Text books

(4 Calculators

f=iTFa 9 9 7 Fa 0 g=A-59 91570 |t 21 Jaai 8 7

(1) Ifen
(2)  eifars
(3) UREITES

(4) oL (HITE )

Options:-

.1, Option ID :- 249,

« 2, Option ID :- 250,

« 3, Option ID :- 251,

. 4, Option ID :- 252,

Answer Given:- 1, Option ID : -249

Question ID:- 64

What 15 the purpese ot “Year plan” in school ?

(1) To execute goals smoothly

(2)  To recruit teachers in time

(3) It provides direction for action to achieve fixed goals

(4} To rationalise financial resources

ferarmet 3 ‘ arfie 11" =1 =201 T @ 7
(1) @il %1 Hors #9 H ®FEaT

(2)  HII W ;ﬂb’-H%‘ﬂ“:i Ealtil
(4)  Todira womel =1 gfaags ==

Options:-

.1, Option ID :- 253,

. 2, Option ID :- 254,

. 3, Option ID :- 255,

. 4, Option ID :- 256,

Answer Given:- 3, Option ID : -255

Question ID:- 65
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According to LCCLE in NE-2020, the tollowing needs to be achieved on priority in primary
schools

(1)  Functional Literacy and Numeracy

(2)  Foundational Literacy and Numeracy

(3)  Universalisation of Elementary Eeducation

(4)  TFree and Compulsory Education till class VIII

0,

e foren Aifd 2020 % 2 H A2 ¥ waAn mate faEmer 1 et 9 e wna # mafaea 5
SR 9 g R S § 2

(1) WeRmATE HIa A ==

(2)  =lPIEl | HR A

(3) T e = wE

(4)  =A1=ET w7 e S sAfaErd o

Options:-

.1, Option ID :- 257,

« 2, Option ID :- 258,

. 3, Option ID :- 259,

« 4, Option ID :- 260,

Answer Given:- 2, Option ID : -258

Question ID:- 66

What could be the better learning space in classroom ?
(1)  Non-threatening and supportive environment
(2)  Efficient teachers

(3} Classroom with good ventilation

(4 ICT tools

(1) P R HeTF W

(2) Bl NS

(3) 3T FEaEgH RE

(4) =1 S =W Al & Ay

Options:-

.1, Option ID :- 261,

. 2, Option ID :- 262,

. 3, Option ID :- 263,

. 4, Option ID :- 264,

Answer Given:- 3, Option ID : -263

Question ID:- 67
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Which one of the tollowing could be the barrier of learning ?
(1)  Tear of tailure

(2) Poor ventilation
(3

{

4)  Aggressive principal

Noiwsy surroundinmes
E)

Options:-
.1, Option ID :- 265,

« 2, Option ID :- 266,
« 3, Option ID :- 267,
. 4, Option ID :- 268,
Answer Given:- 3, Option ID : -267

Question ID:- 68

According to Educational Psychology, what is the best teaching method for enhancement of
learning ?

(1)  Constructive learning
(2)  Experiential learning
(3)  Project based learning

(4 Experimental learning
L (]

foren wATfaEA % TN 1P o HWasT F fou f 7 o o 1 Farey foam fafa g7
(1)  T=EmEr Al

(2)  FAWESE AT

(3)  TRATSE e A

(4) TR s

Options:-

.1, Option ID :- 269,

« 2, Option 1D :- 270,

« 3, Option ID :- 271,

. 4, Option ID :- 272,

Answer Given:- 4, Option ID : -272

Question ID:- 69
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What is the role of teachers in constructive learning ?
(1) Imposes conditions on learners

(2)  Open end questions are given to learners

(3 Gives freedom to learners

(4) Dictates terms with learners.

TS AT H ST w1 a2 7

THH HAFTHEA] T 9 SR ST 2

(1)
(2)  =HH HATTHERA 1 HHH YA €U S 2
(3)

)

Tt SRRl R AT A1 Al 2

Options:-

.1, Option ID :- 273,

« 2, Option ID :- 274,

« 3, Option ID :- 275,

. 4, Option ID :- 276,

Answer Given:- 2, Option ID : -274

Question ID:- 70

The teacher controls the environment i :
(1)  Behaviourism

(2)  Cognitivism

(3)  Naturalism

(4} Realism

HEATT R FIE:.'::F#E ﬁ-‘ﬁl mﬁ qquH] Eh:] |a.r::|\ AL :E‘Ii-?

(1) =I=er=E
(2) HIER
(3)  wepfdare

(4) FdEE

Options:-

.1, Option ID :- 277,
. 2, Option ID :- 278,
. 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Subject : CCLE SOL PE_Q71-Q80_PGTCS

Question ID:- 71
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‘Cerebral Palsy” a Kind disability comes under :
(1) Intellectual disability

(2) Mental disability

(3} Physical disability

(4)  Sensory disability

T Y ( Higel Tedl) U6 TaE &1 FEr 21

(1) =g oo

(2)  HAMHE 97l

(3) vl o

(4)  Hez Helod vk

Options:-

.1, Option ID :- 281,

« 2, Option ID :- 282,

« 3, Option ID :- 283,

. 4, Option ID :- 284,

Answer Given:- 2, Option ID : -282

Question ID:- 72

‘Dysgraphia’” is characterised by :
(1) Poor leaming

(2) Poor vision

(3) Poor hand writing

(4)  DPoor speech

(1) @E Hiem
(2) Heq g

(3) @A faamEe
(4) T HATEEfE
Options:-

.1, Option ID :- 285,
. 2, Option ID :- 286,
. 3, Option ID :- 287,
. 4, Option ID :- 288,
Answer Given:- 3, Option ID : -287

Question ID:- 73

-

77 fa=

it o A fFea afara s g7
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What is the role of teacher while teaching disabled children ?

(1) Resort to Taitlor made teaching techniques to suit disabled children.

(2)  Special classes separately for disabled.
(3)  Special incentives for disabled.

(4)  Specal furmiture to be arranged for disabled.

a7 ARl % AT H AT T i 7

(1) =AM =eteh] o S a4 a913 SS9 deheleh &l 193 o]

(2) fe=ar Aol F fon srem | faury #asT & srEe

(3)  fesain arern & fory fadi dicares

Options:-

.1, Option ID :- 289,

« 2, Option ID :- 290,

. 3, Option ID :- 291,

« 4, Option ID :- 292,

Answer Given:- 1, Option ID : -289
Question ID:- 74

What 1s School Development lan ?

(1) Plan tor School Architecture

(2)  Document tor Academuc Plan

(3)  Road Map that sets out for success of school

(4 Gude to mplement strategies

foremer T arer #1187

(1) Torenera =1 aigFen & Ha9 o 1w

(2) Do AT HAH] gEES

(3) T &1 awear # o fuifa arfafiie

Options:-

.1, Option ID :- 293,

. 2, Option ID :- 294,

« 3, Option ID :- 295,

. 4, Option ID :- 296,

Answer Given:- 1, Option ID : -293

Question ID:- 75
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Normally what tvpe of Time-Tables are prepared in schools ?
(1) Home work Time Table

(2)  Sports Time Table

(3)  Class Time Table and Teacher Tume Table

(4) C.CA Time-Table

- -

faee s § A=A T 9T i FHA-a1ed] a7 i o6l 2 7

(1) & &4 97 [

(2)  ehl=] GHE =]
(3) e T AW SR e The i

Options:-

.1, Option ID :- 297,

« 2, Option ID :- 298,

« 3, Option ID :- 299,

. 4, Option ID :- 300,

Answer Given:- 3, Option ID : -299

Question ID:- 76

Which one of the followings would form bridge between School and Home ?
(1)  Non-Governmental Organization

(2)  Parent Teacher Association

(3)  National Social Service

(4  National Cadet Corps

fr=ifera © W, =P fa=mer $i) 98 & A= w5 5 T w7
(1) 1 =il Hiad

(2)  H[YEF HeETE HA

(3)  EE G S (UE UE U

(4) T FEE wE (T L EHL)

Options:-

.1, Option ID :- 301,

. 2, Option ID :- 302,

. 3, Option 1D :- 303,

. 4, Option ID :- 304,
Answer Given:- 2, Option ID : -302

Question ID:- 77
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What is the role of '‘Morning Assembly’ in child’s development ?

(1) It influences positively on child to develop social value and selt-esteem
(2)  Promotes disciphne

(3)  Place for disseminating information

() Tromotes Punctuality

ATAF T | U A5 A i g 7

) THE AmfEE qou #N Aea-gmE oo w9 H 9ot W A Remers e T §
%) THE HUHEA H g fHed § )

3) T2 A G A W E

(4)

1

(
(
(

Options:-

.1, Option ID :- 305,

« 2, Option ID :- 306,

« 3, Option ID :- 307,

. 4, Option 1D :- 308,

Answer Given:- 1, Option ID : -305

Question ID:- 78

What is ‘Balavatika” Programme envisaged in NEP-2020 ?
(1) Learning of a child after 5 years of age.

(2)  The learning of a child prior to the age of 5.

(3)  Learning of a child in primary section.

(4 Learmning of a child up to class VIIL

T Toen =ifd, 2020 5 aftwfeaa ‘ smmarfesr ey # 7 ?
(1) 54 @l A7 = 9= scAH/ari s F1 AfaH

(2) 57 A WA F H TH A AT & A
(3)  widTes el H e Al &l S

(4) ST FH TR AR/ AR H AT

Options:-

.1, Option ID :- 309,

. 2, Option ID :- 310,

. 3, Option ID :- 311,

. 4, Option ID :- 312,

Answer Given:- 2, Option ID : -310

Question ID:- 79
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What is the aim ot 'DIKSHA" [Digital Intrastructure tor Knowledge sharing] proposed in NEP
2020.

(1) ICT mterface with Teaching

(2} Digital Platform for students
(

3} Technological Intervention to achieve Foundational Literacy and Numeracy in Primary
Education.

(4)  Digital Plattorm for competitive examinations

T foren Aifa, 2020 F gEwiEa 21 (TEuied SHgaed TR Aers I ) F A v B 7
1) e O g H HER g w5 A dim ($arnE)

(

(2)  fommfefai & fem fesiie wrzwi

(2wl faemeri O Gi9aE] wemdl sfi STy 1 dad 9rd i+ fon GEifisis sy
(4)  TfFETT W % oy fesiee wieE

Options:-

.1, Option ID :- 313,

« 2, Option ID :- 314,

. 3, Option ID :- 315,

. 4, Option ID :- 316,

Answer Given:- 1, Option ID : -313
Question ID:- 80

Who applied ‘Pragmatism’ in Education ?
(1) Watson

(2)  Rousseau

(3)  Hegel

(4) John Dewey

forem =% o199 o ‘=yeeifar 9@’ (Tmies) & ufaTEs e 9 2

(1) @z
(2) &4l
(3) B

(4) 1 =41

Options:-

.1, Option ID :- 317,
. 2, Option ID :- 318,
. 3, Option ID :- 319,

. 4, Option ID :- 320,
Answer Given:- 4, Option ID : -320

Subject : CS_Q81-Q180_PGTCS

Question |D:- 81
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Which of the following is not hardware of a computer system ?
(1)  KLYBOARD

(2) PRINTER

(3) OPERATING SYSTEM

(4) MOUSE

freafafas § 4 %7 |/ U He g (fed) 1 arsan 78 27
(1) KEYBOARD

(2)  PRINTER

(3)  OPERATING SYSTEM

(4) MOUSE

Options:-

.1, Option ID :- 321,

« 2, Option ID :- 322,

. 3, Option ID :- 323,

. 4, Option ID :- 324,

Answer Given:- 3, Option ID : -323
Question ID:- 82

Which out of the following is the least capacity of memorv unit compared to other optioms ?

(1)  MB

(2) KB

(%) GB

(4 1B

fre=Aferfed 5 9 fFee! 7ERl 932 &1 4 74 fohed &1 ga 5 Jed &H 87
(1) MB

(2) KB

(3) GB

(4)  TB
Options:-

.1, Option ID :- 325,
. 2, Option ID :- 326,
. 3, Option ID :- 327,
. 4, Option ID :- 328,
Answer Given:- 4, Option ID : -328

Question ID:- 83
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A collection of 4 bits is known as .
(1) BYTLE

(2) WORD

(3) NIBBLE

(4) K.BYTE

4 Tz F A F AR T
(1) BYTEC

(2)  WORD

(3)  NIBBLEL

(4) KBYTE

Options:-

.1, Option ID :- 329,

« 2, Option ID :- 330,

. 3, Option ID :- 331,

. 4, Option ID :- 332,

Answer Given:- 3, Option ID : -331

Question ID:- 84

While working on computer, if we open a document in MS OFFICE WORD, which of the tollowing
s used ?

(1) RAM
(2)  ROM
(3)  BIOS
(4) 1/0 BUS

T FEO W FH W HHA e 79 MS OFFICE WORD ¥ %1% 2Pz wem E a1 fefared 5 4
ferageRT T feman S & 2

(1)  RAM
(2) ROM
(3)  BIOS

(4) 1/0 BUS

Options:-

.1, Option ID :- 333,

. 2, Option ID :- 334,

. 3, Option ID :- 335,

. 4, Option ID :- 336,

Answer Given:- 1, Option ID : -333

Question ID:- 85
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i1s not an operating system.
(1)  UNIX
(2) WINDOWS
(3) ANDROID
(4 MS OFFICE

frefafEs § 9 =68 9 tF A =g @ g7
(1)  UNIX

(2} WINDOWS

(3)  ANDROID

(4) NS OFFICE

Options:-

.1, Option ID :- 337,

« 2, Option ID :- 338,

. 3, Option ID :- 339,

. 4, Option D :- 340,

Answer Given:- 4, Option ID : -340
Question ID:- 86

What will be the result of the tollowing Boolean expression ?
NOT True OR False AND True

(1) False

(2) True

(3} Error in Expression

(4) No result

FrefefEd Jer == =1 O #1207
NOT True OR False AND True

(1}  TFalse

(2)  True

{3)  Error in Expression

(4)  No result

Options:-

.1, Option ID :- 341,

. 2, Option ID :- 342,

. 3, Option ID :- 343,

. 4, Option D :- 344,

Answer Given:- 1, Option ID : -341

Question ID:- 87
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Which Boolean expression is correct interpretation ot the tollow ing logic circuit ?

e

Y

(1) (X HY)
(2) (XYY

(3)  X®Y

) (X®Y)

fre=aferfas ae aftay (@i wfd) =7 W& sare 9 Jeid saaF #E 78 7

)

() (YY)
(2) (XYY
(3)  Xa@y

(4 (xey)y

Options:-

.1, Option ID :- 345,

« 2, Option ID :- 346,

. 3, Option ID :- 347,

« 4, Option D :- 348,

Answer Given:- 3, Option ID : -347
Question ID:- 88

Which of the following represents Absorption Law correctly ?
(1) X+YZ=(X+Y)(X+Z)

(2) X+XY=X

(3)  (XHY)=X'"Y

(4) (X-X)=X

fr=fafas § 9 27 9 aamm 79 (Ts9E o) & e B9 9 {9809 = 8 7
(1) X+YZ=(X+Y)X+2)

(2) X+XY=X

(3} (X+Y)=XY

(4 - =X

Options:-

.1, Option ID :- 349,
. 2, Option ID :- 350,
« 3, Option ID :- 351,
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. 4, Option ID :- 352,
Answer Given:- 2, Option ID : -350

Question ID:- 89

Which of the following is exact equivalent of given binary number in Octal Number ?
(101110001011},

(1) (232023),

(2) (ASA)

(3) (5613,

(4) (3165,

frAftEa 5 W &M H1 W TR T &) 73 e 5= & Soga d60ged 8 7
(101110001011},

(1) (2320253),
(2)  (ASA)q
(3) (5613,
(1) (3l63),

Options:-

.1, Option ID :- 353,

. 2, Option ID :- 354,

. 3, Option ID :- 355,

. 4, Option ID :- 356,

Answer Given:- 3, Option ID : -355
Question ID:- 90

What 1s full form ot ISCII encoding seheme ?

(1) Indian Standard Code tor Interchange of Intormation
(2)  Indian Standard Code tor Information Interchange
(3)  Indian Standard Coding for Information Interchange

(4) Indian Scheme of Coding for Information Interchange

A TH | A8 AT TTH127 ThH ] fa%gd g 21 2 7

(1) Indian Standard Code tor Interchange of Intormation
(2) Indian Standard Code tor Intformation Interchange
(3)  Indian Standard Coding for Information Interchange

(4)  Indian Scheme of Coding for Information Interchange

Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
. 3, Option ID :- 359,

. 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358
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Question ID:- 91

Which of the following cannot be registered under cyber crine ?
(1) Sending pornographic material online
(2)  Stealing of brand new internet routers from a showroom
3} Accessing CCTV camera of a private company without their knowledge

(4)  Sending threats on social media accounts

Options:-
.1, Option ID :- 361,

. 2, Option ID :- 362,
« 3, Option ID :- 363,
. 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362

Question ID:- 92

Which of the tollowing is an example ot a very strong password ?
(1)  STRONG

(2)  abcl1234

() admin

(4)  ApY#E2acQ

FAfafEa 5 7 &[ 9 Tk 954 Teed Ia s #1380 © 7
(1) STRONG

(2)  abcl234

(3 admin

(4)  Ap9#2@cQ

Options:-

.1, Option ID :- 365,

. 2, Option ID :- 366,

. 3, Option ID :- 367,

. 4, Option ID :- 368,

Answer Given:- 4, Option ID : -368

Question ID:- 93




Which ot the full(‘}&-\-‘il‘ug protocol is used to upload and download files trom remote
server/computers ?

(1) SMTP
(2} VoIP
(3} HTIP
(4) FTP

= r s =

e HE/@To2d § HEe ST0e2 3R 202 Fid o o AefatEd ° 9 T giema & g3 B
ST & 7

(1)  SMTP
(2) VeIl
(3  HTIP
(4) TP
Options:-

.1, Option ID :- 369,
. 2, Option ID :- 370,
« 3, Option ID :- 371,
. 4, Option ID :- 372,
Answer Given:- 4, Option ID : -372

Question |D:- 94

Garuda Skill Education has set up their new skill training campus in a place near Pune. The
campus has three close by buildings comnmected with each other using CAT6 cable. Which type of
network is established in the campus ?

(1) PAN
(2)  MAN
(3)  LAN

(4 WAN

e e TSR A U % FAea o U R T A ] e 2 e et fee g1 e o A

TTa R afeed 2 51 CATe Fad H 799 T 21 22 2 | F794 1 f°H 951 1 7ea w=nfaa fFn w2
(1) PAN

(2)  MAN
(%) LAN
(4) WAN
Options:-

.1, Option ID :- 373,
. 2, Option 1D :- 374,
. 3, Option ID :- 375,

. 4, Option ID :- 376,
Answer Given:- 3, Option ID : -375
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Question ID:- 95

Which of the tollowing is not a Network device ?
(1) Switch

(2) Router

(3) Hub

(4 RAM

(1) fe==
() s
(3) ==

Options:-

.1, Option ID :- 377,

. 2, Option ID :- 378,

« 3, Option ID :- 379,

. 4, Option 1D :- 380,

Answer Given:- 4, Option ID : -380

Question ID:- 96

Nhich of the tollowing wired medium will be able to have highest speed data communication
Which of the toll I { i 11 E ble to | highest < 1 dat t
possible ?

(1)  Single pair telephone cable

(2)  Fiber optic cable

(3)  Co-axial cable

(4)  Twisted pair cable

fr=fafas § 9 fog 98 meam & 29 S==a9 711 22 S99 9 2

Options:-

.1, Option ID :- 381,

. 2, Option ID :- 382,

« 3, Option ID :- 383,

. 4, Option ID :- 384,

Answer Given:- 2, Option ID : -382

Question ID:- 97




Which of the following is an mvalid [P address ?
(1) 100.0.10.32

(2) 25525525510

(3)  192.168.10.15

(4)  256.10.12.5

frefafas § 9 &9 9 tF 99 &% 6 (1P) T2H T8 27
(1) 100.0.10.32

(2)  255.255.255.10

(3)  192.168.10.15

(4)  256.10.12.5

Options:-

.1, Option ID :- 385,

« 2, Option ID :- 386,

. 3, Option ID :- 387,

. 4, Option 1D :- 388,

Answer Given:- 4, Option ID : -388
Question ID:- 98

What 1s full torm ot ARPANET ?

(1) Advancement of Research Project Agency Network
(2)  Advanced Research Project Agency Network

(3)  Add on Research Project Agency Network

()  American Research Project Agency Network

T AT 9 WA 2 2 ( ARPANEI ) 3197 719 &7 £ 7

(1)  Advancement of Research Project Agency Network
(2)  Advanced Research Project Agency Network

(3} Add on Research Project Agency Network

(4)  American Research Project Agency Network

Options:-

.1, Option ID :- 389,

« 2, Option ID :- 390,

. 3, Option ID :- 391,

. 4, Option ID :- 392,

Answer Given:- 2, Option ID : -390

Question ID:- 99
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Which of the following is not an example of cloud computing services ?
(1)  Saad

‘2\) laaS
(3)  TPaaS
(4 Saal
Frfafaa 4 9 =@ = 3732w Qs & UF e 76 2 7
(1)  Saabd
(2} laaS
(3) TaaS
{ -L) del—}
Options:-

.1, Option ID :- 393,

. 2, Option ID :- 394,

. 3, Option ID :- 395,

. 4, Option ID :- 396,

Answer Given:- 4, Option ID : -396
Question ID:- 100

Which of the following is not an application ot AL?
(1) Chat Bot

(2)  Financial Accounting System

(3)  Dhriverless Car

(4)  TFace Recognition System

freferfEs o = #4010 22 (A1) =il UF T el ¢ 7
(1) == =2 (Chat Bot)

(2)  FEATIEE wEEET famn

(3) SEHeH FN

(4) T T faed

Options:-

.1, Option ID :- 397,

. 2, Option ID :- 398,

. 3, Option ID :- 399,

. 4, Option ID :- 400,

Answer Given:- 2, Option ID : -398

Question ID:- 101

pgtprime.com



Which of the following is an mvalid wdentitier in Python Programming Language 7

(1) none

(2) Talse
(3) true
(4) Tor

TR WA e § efaiEd 0 3 :F 9 TF o0 STEe 2w 8 7
(1)  none

(2) False

(3)  true

(4) For

Options:-

.1, Option ID :- 401,

. 2, Option ID :- 402,

. 3, Option ID :- 403,

« 4, Option D :- 404,

Answer Given:- 2, Option ID : -402
Question ID:- 102

Which of the following is not a valid operator in Pvthen ?
(1)
(2 =>
(3 7/
(4) g

. P .
4

Fd H HEH JUF T AT qE 27

Options:-

.1, Option ID :- 405,

« 2, Option ID :- 406,

. 3, Option ID :- 407,

. 4, Option ID :- 408,

Answer Given:- 2, Option ID : -406

Question ID:- 103
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L+ (2=23) 4+ #5//6

(1} =171
(2) 172
() 170
(1) 170

1+(2=3) =4 = =5//6

(1) -171
(2) 172
(3)  —170
(4) 170
Options:-

.1, Option ID :- 409,
. 2, Option ID :- 410,
« 3, Option ID :- 411,
. 4, Option ID :- 412,
Answer Given:- 1, Option ID : -409

Question ID:- 104

not True or not False and False
(1)  True
(2) TFalse
(3)  None

(4)  will generate an Error

FA=fATEs =94 & 97 79 S0

not True or not False and False

(1)  True
(2) Talse
(3 None
(4)  will generate an Error

Options:-

.1, Option ID :- 413,

. 2, Option ID :- 414,

« 3, Option ID :- 415,

. 4, Option ID :- 416,

Answer Given:- 2, Option ID : -414

Question ID:- 105

Identity the correct output of the following Pyvthon arithmetic expression :

fr=fafEs aem SAwavET =i E & Wa A2 & 929 Fifan

Evaluate the following expression :
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(1)
(2)
(3)
(4)

(1)
(2)
(3)
(h)

(1)
(2)
(3)
(4)

10
40
50
400

10
40
50
400

Options:-
.1, Option ID :- 417,

el 23 T

4

. 2, Option ID :- 418,
. 3, Option ID :- 419,
. 4, Option ID :- 420,
Answer Given:- 1, Option ID : -417

Question ID:- 106

g4

1415
ddl1e
0000

(h
(2)
(%)
(4)

-
al

il

-
3

(SR

Options:-
.1, Option ID :- 421,

[dentity the correct output ot the following Python Command :
print (10 or 40)

frmferfad arem Fz 7 WE AETYE F TEEE w0
print (10 or 40)

[dentity the correct output of the following Pyvthon program segment ?
[’ =3.141592
print ("4 WD)

[ o

A4

31415
51416

0000

. 2, Option ID :- 422,
. 3, Option ID :- 423,
. 4, Option 1D :- 424,

freAferfEd grrem 9 B2 & Hal 3292 i 9 R
1 =23.141592
print (o.4t' %li)
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Answer Given:- 3, Option ID : -423
Question I1D:- 107

Which of the following is immutable data type in Python ?
(1)  Set

(2) List

(3)  Tuple

(4) Dictionary

YA H SR (FARTEe ) = 7R fAeiaiEd " EE w1 g7
(1) Set

(2)  List

(3} Tuple

{4} Dictionary

Options:-

.1, Option ID :- 425,

« 2, Option ID :- 426,

. 3, Option ID :- 427,

. 4, Option ID :- 428,

Answer Given:- 3, Option ID : -427
Question ID:- 108

It we have 2 Python lists as tollow :

Listl =[10, 20, 30]

List2 = [40, 30, 60]

[t we want to generate a list List3 as

List3=[10, 20, 30, 40, 30, 60]

then best Python command out of the following is
(1)  Listd = Listl + List2

(2)  List3=ListLappend (List2)

(3)  List3 = Listl.update (List2)

(4)  List3 = Listl.extend (List2)
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=fe FAE T A= A1 T 2 TEEA ( Python ) o= §
Listl =[10, 20, 30]

List2 =40, 50, 60]

TR FH U AR T2 Listd Hied s 9red 2
List3=[10, 20, 30, 40, 50, 60]

al fArAfdfEe O 9 waledn qEga waie & dGl gl ?
(1)  Listd = Listl + List2

(2) Listd=Listl.append (List2)

(3)  Listd = Listl.update (List2)

(4) List3 = Listl.extend (List2)

Options:-

.1, Option ID :- 429,

. 2, Option 1D :- 430,

. 3, Option ID :- 431,

. 4, Option ID :- 432,

Answer Given:- 4, Option ID : -432
Question ID:- 109

Identity the correct output of the tollowing Pyvthon code:
L=[32,221,1]
L.append(L.pop(L.pop()))

print(L)

(y [3.2,21, 3]
(2) [3.3,2 2 3]
(3 [L3,2 2 1]
(4) [L 1,223 7

fre=rferfiad 9mem 72 % WE 3202 &1 T2 R0
L=[3232 21 1]
L.append(L.pop (L.pop()))

print(L)

(1) [3.2.2,1,3]
2y [3.3.2, 2 3]
(3) [1.3 2 2 1]
4) [1, 1,2 2 3, 3]
Options:-

.1, Option ID :- 433,
. 2, Option ID :- 434,
. 3, Option ID :- 435,
« 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 110
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Identif}' the output of the Python Command :

prmt(22.0//53)

(1) 4.4
(2) 4
(3) 1.0
(1) 2

a1 TE UEYA FH S o A9 F I TEEA A0
prmt(22.0/ /5)

(1) 4.4
(2) 4
(3) 4.0
(9 2
Options:-

.1, Option ID :- 437,

. 2, Option ID :- 438,

. 3, Option ID :- 439,

« 4, Option ID :- 440,

Answer Given:- 3, Option ID : -439
Question ID:- 111

Find the output of the tollowing Python code :
L1=][1,4, 53, 2]

L2=1L1

Ll-sortf )

print (L2)

() (L4032
(2) 1,23, 4]
(%) 1432
(1) 1234

fr=fafad Taum #12 F ETqE 1 aar o
L1=[1, 4 3 2]

L2=11

L1-sort( )

print (L2)

(1) 14,3, 2]
(2) [1 2 3 4]
(3) 1432
(4) 1234

Options:-
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.1, Option ID :- 441,

. 2, Option ID :- 442,

« 3, Option ID :- 443,

. 4, Option ID :- 444,

Answer Given:- 1, Option ID : -441
Question ID:- 112

[t PL is a Python list as follow :

PL = ["Basic’, 'C", 'C++]

Then what will be the status of the list PL after
PL.sort (reverse = True) ?

(1) ['Basic’, "C", "C++7]

(2)  [C++7,°C, "Basid)

(3) [T, 'C++', "Basidc]

(4)  ['Basic’, "C++', ']

7 % MY fase PL A TR E

PL = ["Basic’, 'C’, ‘C++]

Gl

PL.sort (reverse = True} o TIEE i Fegdl # g ?
(1) ['Basic’, ", ‘C++']

(2)  [CH++, T “Basid]

(3)  [C, "C++", "Basic’]

(4)  [‘Basic’, ‘C++", "]

Options:-

.1, Option ID :- 445,

. 2, Option ID :- 446,

. 3, Option ID :- 447,

. 4, Option ID :- 448,

Answer Given:- 4, Option ID : -448

Question ID:- 113

Identity the correct output of the fo]lc_m'ing Python program.

CHARR=[['A, 'B'], ['C, ‘D). ['L, ‘7]
print{(CHARR [1] [1])

(Ly A
(2 B
(3 <

(4) D
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Freafafes 9re 9 F el $15292 F1 T F
CHARR=[['A", 'B'], [C", ‘'], [E, *F]
pI‘il"ﬁl‘(CH;:\]’{R [IJ [l])

(1y A
() B
3 C
(4) HDJ
Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
« 3, Option ID :- 451,
. 4, Option ID :- 452,
Answer Given:- 3, Option ID : -451

Question ID:- 114

The following Python list S is implemented as a stack.
S=[10, 12, 0, 4, 6]

It 10 is the element added (pushed) last into the stack S, which command from the following
option is best to remove (pop) an element from the Stack S, if not empty.
b Pot P
(1)  S.pop(h
(2} Spop()

(3} Sremove( )
(4)  Soremove(l))

fr=ferfEd o=em i S & UF stack = =9 ° wAff=d & 70 2|

S=[10, 12, 0, 4, 6]

A stack S H 10 eitHe &1 &Ad H SreL a1 2 a1 (el fasen § 4 S 9 w5 stack S 791
el 4 4, B Teiliz 1 g (pop) 3 HHEE 27

(1} S.pop(0)

(2)  Spop()

(3)  Sremove( )

(4} Sremove(0)

Options:-

.1, Option ID :- 453,

« 2, Option ID :- 454,

. 3, Option ID :- 455,

. 4, Option ID :- 456,

Answer Given:- 2, Option ID : -454

Question ID:- 115
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Traditionally the end of a stack trom where PUSH(additional) and POP{deletion) take place,

popularly known as

(1) FRONT

(2) TOP
(3} LIFO
(4) FIFO

TR 0 9 5 H ! =% (Stack ) & 516 T =@ W PUSH (F72) S POP (f5el197) 26 2, #9 Fe 2 7

(1)  FRONT

(2) TOP
(3) LIFO
(4) FITO

Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
« 3, Option ID :- 459,
. 4, Option ID :- 460,
Answer Given:- 2, Option ID : -458

Question ID:- 116

Identir'y the correct output of the Python code ¢

L1=[1, 2, 3]
L2=[4, 53]
3=[6, 7]
Ll.extend(L2)
Ll.append(L3)

print(L1)

(1y  [L 23 45 6,7
(2) [l 2.3 [4 5] 6,7]
(3) 1,23, 4,5 [6 7]
(4 [1, 23 [4 5] [6 7]]
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TEST HIE o Hel 33292 i TeAd BT
L1=[1, 2, 3]

L2=[4, 3]

L3=[6, 7]

LT.extend(L2)

LT.append(L3)

print{L1)

(1Y [1,2,3,4 5 6,7]

(2) L 2,3, [4 3], 6, 7]
“

(3) [L 2,3, 4,5 [6 7]]
4 [L

[

3, [+ 3] 16, 7]

Options:-

.1, Option ID :- 461,

« 2, Option ID :- 462,

« 3, Option ID :- 463,

« 4, Option ID :- 464,

Answer Given:- 3, Option ID : -463
Question ID:- 117

Identity the correct output of the Pvthon code :
TUP=([1, 2], [3. 4], [5, 6]}
TUP[2] [1]=8

prmt(TUD)
([0 2L [8 4], [5 6])
(2) ([ 2], [3 4L [8 &)

@ (L2, [3 4], [5, 8)

(4)  will generate an error as a Tuple is immutable

TEIA F1E o Fe 33292 & JedM Hia

TUP=([1, 2], [ 4], [5, 6])

TUP[2] [1]=8

print(TU)

(1} ([L 2] [8, 4] [5. o])

2) (L 2] [3 4 [8. 6])

(3) ([0 2, [3 4] [5, 8])

(4)  TF A2 (UR) I FE FF Tuple AIETH

Options:-

.1, Option ID :- 465,

. 2, Option ID :- 466,

« 3, Option ID :- 467,

. 4, Option ID :- 468,

Answer Given:- 4, Option ID : -468

Question ID:- 118

o

@
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[dentity the output of the following Pvthon program segment :
5="Python Programming’

L=Ssplit( )

S=""join(L)

print(S)

(1) Pvthon Programming

(2)  Python, Programming

(3) Python Programming,

(4) Python, Programnmung,

fr=ferfeas aree 9ETs W2 F S22 R YEE A
5= Python Programming’

L =5.split( )

S=""join(L)

pring(S)

(1) Pyvthon Programming

(2) Python, Programming
(3) Python Programming,

(4) . Python, Programming,

Options:-

.1, Option ID :- 469,

. 2, Option ID :- 470,

« 3, Option ID :- 471,

. 4, Option ID :- 472,

Answer Given:- 4, Option ID : -472

Question ID:- 119

It 5="pvyvthon language’ is a 'vthon string, which of the following command will disphlj,—' the

o
following output with "I in upper case and remaining in lower case ?

(1)  printS.upper( )

(2)  print(S.tite( )

(3)  print(S.capitalize{ ))
(4)  print(S.sentence( ))

~ ~

RICEEE ‘python language” T 9T 7 2 a1 fFamfafEa § 9 %0 b #ar fefatea sy
‘P AR T 7 1 919 A1sEeRA H, F1 qefva w2

(1) print{S.upper( )

(2)  print(S.title( )

(3)  print(Scapitalize( ))

(4)  print(S.sentence( ))

Options:-

[THH
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.1, Option ID :- 473,

. 2, Option ID :- 474,

« 3, Option ID :- 475,

. 4, Option ID :- 476,

Answer Given:- 3, Option ID : -475
Question ID:- 120

[dentity the correct output of the tollowing Python Code :
Str="Hello World! Hello India!”’

Pos=5Strindex ("Hello')

print (Pos)

(1), 0

(2) 15

(3) [0, 13]

4 (0, 1%)

fr=aferfaa Tage =12 F W@ Al & e B
Str="Hello World! Hello India!”

Pos=Strandex ("Hello')

print (Pos)

(1) 0

(2) 13

(3) [0, 13]

(4) (0, 13)

Options:-

.1, Option ID :- 477,

. 2, Option ID :- 478,

. 3, Option ID :- 479,

. 4, Option ID :- 480,

Answer Given:- 1, Option ID : -477

Question ID:- 121

It a List L =["Hello’, "World!"] Identity the correct output of the following Python command :
print(+L)

(1) Hello World!

(2) Hello, World!

(3} "Hello’, "World!’

(4)  "Hello” "World!
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Ffe U fe= L= ['Hello', ‘World?'] ¥ @1 FF=feiEd 9999 & W@l 373292 & 989 Hie
print (*L)

(1) Hello World!

(2) Hello, World!

(3} ‘Hello’,"World!’

(4) "Hello" "World!

Options:-

.1, Option ID :- 481,

« 2, Option ID :- 482,

. 3, Option ID :- 483,

« 4, Option ID :- 484,

Answer Given:- 3, Option ID : -483
Question ID:- 122

It Stris a Python string as

Str = "Hello World!

What will be the output ot the tollowing Python Command ?
print(Str.find('1'))

(1)
(2)
(3) 2,3, 7]
(<) 2,3 7)

ad b

4fa Sty

Str = "Hello World!”

F %9 § wk qEee g § a1 fefafas e i 5 emsege o
print (Strfind('17)

(2
(2 3
) 23,7
(4) (237
Options:-

.1, Option ID :- 485,
. 2, Option ID :- 486,
. 3, Option ID :- 487,
. 4, Option ID :- 488,
Answer Given:- 1, Option ID : -485

Question ID:- 123
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Suppose a Python tuple TUP is declared as
TUr=Aa, B, )

Which of the tollowing command is invalid ?
(1) TUP=(D"

(2) TUP=(D")

(3) TUP+ =('D)

(4) TUP+ =(D)

T/ #ifew fF % 999e 79 TUP &1 =i e 7 &
TUP= (A", ‘B, ‘C))

frfatas § 5 =@ @ F072 5= &7

(1) TUP={D)

(2)  TuP=(D")

(3) TUP+ =(I¥)

(1) TUP+ =(D')

Options:-

.1, Option ID :- 489,

« 2, Option ID :- 490,

. 3, Option ID :- 491,

. 4, Option ID :- 492,

Answer Given:- 1, Option ID : -489

Question ID:- 124

TUP=(3,1, 2, 4)

sorted(TUD)
print(TUP)

(1) (3.1, 2 4)
(2) (1.2, 34
(3) [ 1,2 4]
(4) 1,2, 3 4]

fre=rferfad 9mem 72 & WE 52 ]2 1 Yg=H R0
TUP=(3 1, 2, 4)

sorted(TUDP)
print(TUP)
(1 (3124
(2) (1,2 3 4)
(3 [3 1.2 4]
(4) 1,2, 3, 4]

Options:-

[dentif}' the correct output of the following Python code :
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.1, Option ID :- 493,
. 2, Option ID :- 494,
« 3, Option ID :- 495,
. 4, Option D :- 496,
Answer Given:- 2, Option ID : -494

Question ID:- 125

Find the correct output of the following Python program segment :
T=(1)
print(T#3)

(1) 3

@) 1)
(%) 111

4 (F)

frfafas gmsm 9y 97597 F 9 e 1 991 A

T=(1)
print(T+3)

(y 3

(2 (1,1
(3) 111

4 (3)
Options:-

.1, Option ID :- 497,

. 2, Option ID :- 498,

. 3, Option ID :- 499,

. 4, Option ID :- 500,

Answer Given:- 3, Option ID : -499
Question ID:- 126

Select the correct output ot the given Python code trom the tollowing options :
S="INDIAN’

L =5Partition("N")

NS=L[0] + —="+L[1]+"—"+L[2]

print (NS)

(1y [-N-DIA-N-

(2) I[I-DIA-

3y [-DIAN

() I-N-DIAN
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P

Fefefed fasedl 5 9 50 70 9999 #12 F W&l 33292 &1 9949 FHian
S="INDIAN’

L =STPartitton('N")

NS = L[]+ = +L[1]+ =" +L[2]

print (N5S)

(Lhy I-N-DIA-N-

(2) T-DIA-

(3)  I-DIAN

(4) - N-DIAN

Options:-

.1, Option ID :- 501,

. 2, Option ID :- 502,

. 3, Option ID :- 503,

. 4, Option ID :- 504,

Answer Given:- 4, Option ID : -504
Question ID:- 127

To execute the tollowing code in Pyvthon, which module need te be imported ?
print(__ . mean([1, 2, 3]))

(1) math

(2)  random

(3)  statistics

(4)  probability

THHE ¥ fAmfatad wre w1 s w5 % fon 5 dgga # 302 (import) W E SEVEER

rii 2

print( - mean([1, 2, 3]))

(1) math

(2)  random

(3) statistics
)

(4

probability

Options:-

.1, Option ID :- 505,

« 2, Option ID :- 506,

. 3, Option ID :- 507,

« 4, Option ID :- 508,

Answer Given:- 3, Option ID : -507

Question ID:- 128
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It Dis a Python dictionary as

D={A":1"'B :2°C:3

Then, which of the following command will remove the entire dictionary from the memory ?
(1) del(D)

(2} Dudel()

(3)  Duclear( )

(4)  D.oremove( )

7fT D TF 9y feari &

D={'A":1, B :2 C :3)

a1 fr=fafea O 9 =@ 0 Fare 7af § 3 99 femm w1 g2 o 2
(1) del{D)

(2)  D.del()

(?)  D.clear()

(4 Drremove( )

Options:-

.1, Option ID :- 509,

« 2, Option ID :- 510,

. 3, Option ID :- 511,

. 4, Option ID :- 512,

Answer Given:- 1, Option ID : -509
Question ID:- 129

What will be the output of the following Python code ?
Dl=['A":5 "B .7 C 4

D2={B :5, D :10]

Dl.update(D2)

print(D1)

(hy ["A":53 "B :3 ‘C:9 D10

(2) ['A":5 B :5,7C 9 B 5, D 10

3y ['A":5,°C 9 D 10}

4y ['D':7, DY :.10,"A" .5 'C 9
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frefafaa a=aE #12 #1 AR #4202
Dl={yA":5 "B :7 C .4
D2={B :5, D : 10)

Dlupdate(D2)

print(D1)
(1) ["A":5 B 5 'C Y, D10
(2) ["A":5 B :57C:9 B :5 D :10]

(3)  [FA7:5,°CT 9, 10)

(4) (B 7. 'D:10,"A": 5 'C -9}

o
g

Options:-

.1, Option ID :- 513,

. 2, Option ID :- 514,

. 3, Option ID :- 515,

. 4, Option ID :- 516,

Answer Given:- 1, Option ID : -513

Question ID:- 130

Dl={1:22:3 3.4}
D2 =Dl.get(1, 2)
print([X2)

(1) 2

(2) 5

(3) 2, 3]
(4)  [1:2,2:3)

T

-

fFe=fafaEs fawedl o 5 fau 7o ume w12 = fou smeeye &1 = #6ifsu
Dl={1:22:3 3:4}
D2=DLget(1, 2

print(H2)
(2

(2) 3

(3) 2, 3]

4 (1.2 2:3
Options:-

.1, Option ID :- 517,
. 2, Option ID :- 518,
. 3, Option ID :- 519,
. 4, Option ID :- 520,
Answer Given:- 4, Option ID : -520

Question ID:- 131

Select the output tor the given Python code from the following options :
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Which of the tollowing tunctions cannot be used with string(str) data tyvpe ?
(1) islower()
(2)  isupper()
(3)  isalpha( )
(4 isnum()

T2 (str) =041 2139 F | &9 9 Ta9H STAT 81 (4 51 Jehel & 7
(1) islower()

(2)  isupper()

(3} isalpha( )
(4)  snumf()

Options:-

.1, Option ID :- 521,

« 2, Option ID :- 522,

. 3, Option ID :- 523,

. 4, Option ID :- 524,

Answer Given:- 3, Option ID : -523

Question ID:- 132
Examine the given Python program and select the purpose of the program from the tollowing
options :
N =mt{input{“Enter the number"))
for i i range(2, N):

it (N%i= =0):

print(i)

(1) todisplay the proper factors (excluding 1 and the number N itself)
(2)  tocheck whether N is a prime or Not
(3)  tocalculate sum of factors of N

(4)  todisplay all prime factor of the number N

fem 70 wrEeE gEmH = e wifen sin fF=tatma oot § 7 9w & 9=9eE # =99E R ie
N =int(input(“Enter the number”))
for 1 in range(2, N):

if (N%i= =0

print(i)

(1) 394 UHEe] (Bad ) sl wafeld s & [ou (1 207 N 920 &) SigH)
(2) & <@ & A0 fF 0 N UF 9 e § s T8
(3) N o UHEE & GF ] TUE FH E T

(4) N BT o FT S9E URETE ] YRR R h (A

Options:-
.1, Option ID :- 525,
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. 2, Option ID :- 526,
. 3, Option ID :- 527,
. 4, Option ID :- 528,
Answer Given:- 1, Option ID : -525

Question ID:- 133

It A = random.randint(B, C) assigns a random value between 1 and 6 (both inclusive) to the identifier
A, what should be the values of B and C, i all required modules have already been imported ?

(1) B=0,C=6

(2) B=0,C=7
(3) B=1,C=7
(4) B=1,C=6

>, r

FE A = random.randint(B, C) AEEZHMEL A F1 1 T 6 (SET INHA) o 909 &) 29 909 ol ¢ a1 B AN
C ki de o1 2l Al gefl siavas gigge 2rdid (import) @d felu 0 € 2
() B=0, C=6

(2) DB=0 C=7

(3) B=1 C=7

(4) B=1 C=6
Options:-

.1, Option ID :- 529,
. 2, Option ID :- 530,
« 3, Option ID :- 531,
. 4, Option ID :- 532,
Answer Given:- 4, Option ID : -532

Question ID:- 134

Identify the correct output of the follt.m-'ing Python code :

from math import =

A=50

print(tioor(A), ceil(A))
(1y 5 )

(2) 6 5

(3) -5 -6

(4) —6 -5
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fe=fefad 9I@em #E % Wl 35202 &1 9691 &40
from math import =

A=50

print(Hoor(A), ceil(A))

(1 5 6
(2) 6 5
(3) -5 -6
4 -6 =5

Options:-

.1, Option ID :- 533,

. 2, Option ID :- 534,

« 3, Option ID :- 535,

« 4, Option ID :- 536,

Answer Given:- 1, Option ID : -533
Question ID:- 135

[dentity the correct output of the following Python program segment :
import math
print{math.tabs( —10})

(1

(2) - 10
(3) - 10.0
(4) 10

frefafas qrrem e JHe F WE ASaYE & T8 A
import math
print(math.tabs( —10))

(1 1

(2)  —10

(3) 100

(4) 10
Options:-

.1, Option ID :- 537,
. 2, Option ID :- 538,
. 3, Option ID :- 539,
. 4, Option ID :- 540,
Answer Given:- 4, Option ID : -540

Question ID:- 136
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Consider the given Python programme and identity one possible output ot this code out ot the
tollowing options :
from randem import #
Low =randint(2, 3)
High =randrange(5, 7)
tor N range (Low, High):
print(N, end="")

(1) 345
(2) 223
(3) 45
(4) 3456

ol o

fau 710 gprem gy 97 fa=m wifsn sin fafatea faeed 1 9 33 #2 F uw gaifad A2 3 TE=E
RIS

from random import #

Low = randint{2, 3)
High = randrange(5, 7)
for N in range (Low, High):

print(N, end="")

(Iy 345
(2) 23
(3) 45
(4) 3456
Options:-

.1, Option ID :- 541,
. 2, Option ID :- 542,
. 3, Option ID :- 543,
. 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137

Assuming all required modules have already been imported, identity the correct output ot the
tollowing Python program segment :

Data=[4, 4, 1, 2, 4]

print(mean(Data), mode(data))

(1) 14
(2) 41
(3) 34

(4 4

Tad
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e A 7 T sEeE Aiegd T (import) ®1 few mn # ffafEa amem gwm S o
AEIYE h TEEH I

Data=[4, 4, 1, 2, 4]

print(mean(Data), mode(data))

(1 14
(2) 41
(3) 34
() 43
Options:-

.1, Option ID :- 545,

. 2, Option ID :- 546,

« 3, Option ID :- 547,

. 4, Option ID :- 548,

Answer Given:- 3, Option ID : -547
Question ID:- 138

Observe the Python code carefully and answer the tollowing question :
def FUN(A):

L=[]
for 1 m range (2, A):

if (A%i= =0y

L.append(i)
print(L)

N =10

FUN(N)

[dentity the global identifier in the above code :
(1) A

(2) L

() i

(4) N
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A2 FIE B AETH e AqclFA Firey 3if FefatEd 997 &1 30 ot :

det FUN(A):
L=[]
for 1 range (2, A):
i (A%i= =0):
L.append(i)
print(L)
N=10
FUN(IN)
T A2 H global AEZIEER F TEEA HITS
(1) A
() L
(3) i
4 N

Options:-

.1, Option ID :- 549,

« 2, Option ID :- 550,

« 3, Option ID :- 551,

. 4, Option ID :- 552,

Answer Given:- 1, Option ID : -549

Question ID:- 139

Observe the following Python program carefully.

import random

det DICE(Low =1, High =06):
RND = random.randint{Low, High)
print(RND, end="")

DICE( )

DICE(2)

DICE(2, 4)

Which of the followimng options cannot be an output of the above code ?

(1) 4353

2y 413

(3) 354

(4) 643
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fAfAREs TEeA 9 F AR E Aaeld hid
import random
def DICE(Low = 1, High =#6):
RND = random.randimt(Low, High)
print(RND, end =" ")
DICE( )
DICE(2)
DICE(2, 4)

~

%Y
VR ]

(1) 4
(2) 41
(3) 54
(4) 643

T

Options:-

.1, Option ID :- 553,

« 2, Option ID :- 554,

. 3, Option ID :- 555,

« 4, Option ID :- 556,

Answer Given:- 1, Option ID : -553
Question ID:- 140

[dentity the output of the following Python code :
def EXP(N2):
global N1
N1, N2=N1-+5, N2+10
print(INT, N2, end="")
N1=10
EXP(N1)
print(N1)
(1) 102015
(2) 152010
(3} 152015
(4) 10 20 10

fFrefafad fasedi § 9 Fm 91 fafed ST &2 &1 A1320E 78 8 T&al ¢

H

?
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frferfas Tau= #12 F Sz & TEaE FE0
det EXP(N2):
global N1
N1, N2=N1-+3, N2+ 10
print(N1, N2, end =" ")
N1=10
EXP{N1)
print(N1)
(1) 102015
(2) 152010
(3) 152015
(4 10 20 10
Options:-
.1, Option ID :- 557,
« 2, Option ID :- 558,
. 3, Option ID :- 559,
. 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Question ID:- 141

Which of the following mode, when used in file opening statement in Python, generates an error,
if the file does not exast ?

(1)

\J’Eqr-i?ﬁﬁT%’.

(ly a+
(2} 1+

(3) wo
(4 a

Pa)

-

~J

a

(2} r+
(3 w+
4 a

Options:-

.1, Option ID :- 561,

. 2, Option ID :- 562,

. 3, Option ID :- 563,

. 4, Option ID :- 564,
Answer Given:- 2, Option ID

Question ID:- 142

TAZA H EE AT FaHe T 37 U S 9 AT Fee FeEE T2 wdl € d 5 12 1 g (error)

:-562
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Consider the following Python command :

File = open( Mytile’, *a")

Which of the following option cannot be true ?
(1) "Mytile” can be a text file

(2} "Myrile” can be a csv file

(3)  "Myfile” can be a binary file

(4)  "Mytile” will be created if not exist

oo

TefeEd 9399 F97S 92 991 S0

File = open('Myfile’, "a’)
frefarfaa o % =@ o fawes Wi 721 2 ?
(1) “Myfile’ can be a text file

(2} “Mytile’ can be a csv tile

(3)  “Mytile” can be a binary file
(4 "Myhle” will be created if not exist

Options:-

.1, Option ID :- 565,

« 2, Option ID :- 566,

. 3, Option ID :- 567,

. 4, Option ID :- 568,

Answer Given:- 3, Option ID : -567
Question ID:- 143

Which of the following is not true for the Python command :
File = open(‘story.txt’, “a +7)

(1)  More text can be written mto “story.txt’

(2) Content of the file “story.txt’ can be read.

(3)  Content of the file ‘story.txt’ can be modified.

(4 Command generates an error, if the Hle ‘storv.txt. does not exist.
3 :

T FHE o J10 § FH 91 F97 Ta T2l & 7

File = open(’story.txt’, "a+")

(1) “story.xt’ T 30 w1l 2 (o) o 9] &

(2)  ‘story.txt WEA % FHIZ HT TR T HHAI ©

(3)  “story.txt’ WIEA o o ol YiEldd Al Sl Hehdl @

(4) ﬂﬁ'stm‘y.lﬁxt’ FTee fore et Bt E A s § A () 5o A g
Options:-

.1, Option ID :- 569,

« 2, Option 1D :- 570,

. 3, Option ID :- 571,
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. 4, Option ID :- 572,
Answer Given:- 4, Option ID : -572

Question ID:- 144

Consider the following Python program segment :
File = open("Poem.txt’, 1)

T =TFilereadline( )

Identity the data type of T

(1) String (str)

(2)  List

(3)  Tuple

(4)  Dictionary

AW

fr=fafag 9@ 9 9742 W fFEr F: =0
File = open( Poem. txt’, t°

T=Tile.readline( )

T F ZEEY Hi T&TH FI0
(1}  String (str)
(2} List

(%) Tuple
(4)  Dictionary

Options:-

.1, Option ID :- 573,

« 2, Option ID :- 574,

« 3, Option ID :- 575,

. 4, Option ID :- 576,

Answer Given:- 3, Option ID : -575
Question 1D:- 145

Name the Python module need to be imported to invoke the function ?

load( )

(1) csv
(2)  pukle
(3} sql

(4)  binary

load( ) TFETE ] WA 3 & 0 27003 (import) TRT ST =0 T497 TT2A0 6 75 #2027
(1)  csv

(2)  pickle

(3) syl

(4)  binary

Options:-

pgtprime.com



.1, Option ID :- 577,
. 2, Option ID :- 578,
« 3, Option ID :- 579,
. 4, Option ID :- 580,
Answer Given:- 2, Option ID : -578

Question ID:- 146

Examine the given Python program and select the purpose of the program from the following
options :

[ =open(‘storv.txt’, r+")

S=F.read()

S=5Supper( )

F.seek(U)

Fowrite(s)

I.close( )

(1) tocount the upper case alphabets present in the file
(2)  toconvert all alphabets mto uppercase n the file
(3)  tocopy only the upper case alphabets from the file

(4)  toremove all lower case alphabets trom the tile

fom 70 qrEeE 9rTE B WA F A fTu T faeedt § W URH & 9ESE o =9 Fiie
F=open('story.txt’, T+)

S=F.read()

S=S.upper( )

I.seek(D)

Fowrite(s)

F.close( )

(1) hEer H 50 0 A FE UeHEEE (92 90 ) B T0F w=A F O
(2)  HEA T fou T gt amt #eTR FE (I W) § gged F @
(3)  FAE FE W AW FH UCHEIH (TS A B FE FA F o
(4) TEEE W W A FH TeRESH (B2 AT ) I E2M F e

Options:-

.1, Option ID :- 581,

« 2, Option ID :- 582,

. 3, Option ID :- 583,

. 4, Option ID :- 584,

Answer Given:- 2, Option ID : -582

Question |1D:- 147
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seek( ) 1s a method of 7
(1) csv module

(2)  pickle module

(3)  text module

(4)  file object

seek( ) EREAR AR (method) 77
(1) csv module
(2)  pickle module

(3)  text module
(4) file object

Options:-

.1, Option ID :- 585,

« 2, Option ID :- 586,

. 3, Option ID :- 587,

. 4, Option ID :- 588,

Answer Given:- 2, Option ID : -586

Question ID:- 148

csv module need to be imported 0 a Python program to invoke or use the function :
(1) write( )
(2)  writerow( )
(3)  writeline( )

(4  writelmes( )

TRt g Um H csv ATEHe Rl TP I 1 STETFHR 21 ¢ Al 39 HeRT 1 TR S19e TG
o =1 T

(1)  write()

(2)  writerow( )

(3)  writeline( )

(4)  writelines( )

Options:-

.1, Option ID :- 589,

. 2, Option ID :- 590,

« 3, Option ID :- 591,

. 4, Option ID :- 592,

Answer Given:- 1, Option ID : -589

Question ID:- 149
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Examine the given Python program and select the best purpose of the program from the given
options :

File = open({"Poem.txt”, “1r")

print{len(File.readline( ).split( )))

File.close( )

(1) tocount the number of words present in the file

(2)  tocount the number of ines present in the file

(3)  to count the number of characters present in the tile

(4)  tocount the number of words present in the tHrst line of the file

a0 710 9F7eF 9RE 1 90 & 35U 70 fEeed § H 9 F JEeH WA B =999 F I
File = open(“Toem.txt”, “r'")

print(len(File.readline( ).split( }))

File.close()

(1) el § feu o=l i HeAr il fTd] #H & fog

(2) TRES H =T E A=Al R HEm # fd we F e

(3) A | fou T F e ®) He w5 it #e F e

(4) TREE H qEel oza 9 f5u T we W Swe & Tl i 6 o

Options:-

.1, Option ID :- 593,

. 2, Option ID :- 594,

« 3, Option ID :- 595,

« 4, Option ID :- 596,

Answer Given:- 4, Option ID : -596
Question ID:- 150

CSV files are comma separated values saved as a .
(1) text tile

(2)  Dbinary file

(3)  MvSQL table

(4)  random file

CSV files T FTH ( AT ) fam=m 9o 2t € fa= F =0T o9 T A
(1) text file
(2} binary file

(3)  MySOQL table

(4)  random file

Options:-

.1, Option ID :- 597,
. 2, Option ID :- 598,
. 3, Option ID :- 599,
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. 4, Option ID :- 600,
Answer Given:- 1, Option ID : -597

Question ID:- 151

The creator of the open source Pandas Package for data analysis in the Python Programming
language was

(1) Wes Mceinnmey

(2} Mc Pandas

(3)  John D.Hunter

(4)  Travis Oliphant

TFEEE WINET #Es o 22 TAArEE & fad 3799 94 921 96s & [0 9 |
(1) 8 Al

(2) ©oH e

(3) FHELEX

(4 FEH R

Options:-

.1, Option ID :- 601,

. 2, Option ID :- 602,

« 3, Option ID :- 603,

. 4, Option ID :- 604,

Answer Given:- 3, Option ID : -603

Question ID:- 152

Which of the tollowing is not bundled package with pandas ?
(1) six

(2) numpy

() pyis

(4)  statstics

=fafEa 5 7 =R pandas F Y TF G50g (bundled) CEAE I
(1)  six

(2}  numpy

(3)  pyts

(4} stabsibcs

Options:-

.1, Option ID :- 605,
. 2, Option ID :- 606,
« 3, Option ID :- 607,

. 4, Option ID :- 608,
Answer Given:- 1, Option ID : -605
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Question ID:- 153

Which ot the fuﬂm-*\fing is equivalent of and operator while using Boolean indexing on data
frames ?

(1) &é&
(2) @
(3) &
(4 N

T A T g AT 1 gE i weE eEtaiEa H 5  sHE JHged or 39§ 7
(1) &

(2) @

() &

(4 N
Options:-

.1, Option ID :- 609,

. 2, Option ID :- 610,

« 3, Option ID :- 611,

. 4, Option ID :- 612,

Answer Given:- 3, Option ID : -611
Question ID:- 154

Find the output of the tollowing Pyvthon code :
import Pandas as pd
M = pd.series({'P" : 10, Q" = 90})

print(M)
) T Q

1o 90
(2) P 10

Q an
(3 0 P 10

1 Q a0
4 10 P

90 Q
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frferfaa Tag w2 %1 A32]2 96 I
import Pandas as pd
M = pd.series({'P" : 10, “Q" : 90})

print(M)
() P Q

10 a0
2y P 10

Q 90
(3 0 P 1D

1 Q 90
4y 10 P

90 Q
Options:-

.1, Option ID :- 613,
. 2, Option ID :- 614,
. 3, Option ID :- 615,
. 4, Option ID :- 616,
Answer Given:- 2, Option ID : -614

Question ID:- 155

What will be the output of the following Python code ?
import pandas as pd

S = pd.series(20, 30)

print(s)

(1)  Typebrror

(2) 20 30

(3 0 20
1 30

(4 0 1
20 30

fr=fafad geem #1211 s3ege # 2 7
import pandas as pd

S = pd.series(20, 30)

print(s)

(1)  Typebrror

(Z) 20 30

(3) 0 20
1 30
(4) 0 1
20 30
Options:-

.1, Option ID :- 617,
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. 2, Option ID :- 618,
. 3, Option ID :- 619,
. 4, Option ID :- 620,
Answer Given:- 3, Option ID : -619

Question ID:- 156

Fill in the blanks with an appropriate command trom the given options to produce the output
shown on the right side of the following code :

import pandas as pd

D = [[1, 2], [3. 4]] Al A2
A = ["A1","A2"] BL 1 2
B =~ ['BI", "B2"] B2 3 4
Print(D)

(1)  D=pdDataFrame(D, columns = A, index = B)
(2} D=pdDataFrame(D, rows =B, columns= A)
(3)  D=pdDataFrame(D, B, 1= A)

(4) D=pdDatalrame(A, B, D)

o~ i~ -

FAfe@a I o 2] 37 2910 0 372292 i fAehier g (20 T faeedl ° 9 S0 w2 &1 a0 =
e “-F'[:":Q :

import pandas as pd

D = [[L, 2], [3, 4]] Al A2
A = ["A1","A2"] Bl 1 2
B = ['B1", "B2'| B2 3 i
Print(D)

(1)  D=pd.DataFrame(D, colunms = A, index =B)
(2)  D=pdDatalrame(D, rows = B, columns = A}
(3)  D=pd.DataFrame(D, B, i=A)
(4) D=pdDataFrame(A, B, D)

Options:-

.1, Option ID :- 621,

. 2, Option ID :- 622,

« 3, Option ID :- 623,

. 4, Option ID :- 624,

Answer Given:- 1, Option ID : -621

Question ID:- 157
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What will be the output of the following Python code ?
import numpy as np

B =np.array(]20, 50, 80, 30])

print(B, B.size, B.shape)

(1) (20, 50, 80, 30) 4, (4,)
(2)  [20, 50, 80, 30] 4, (4,)
(3) (20, 50, 80, 30) (4,) 4
(4)  [20, 50, 80, 30] (4,) 4

fr=fefEs T=gm F12 =1 A3 #4927
Import numpy as np

B =np.array([20, 50, 80, 30])

print(B, B.size, B.shape)

(1) (20, 50, 80, 30) 4, (4,)
(2)  [20, 50, 80, 30] 4, (4,)
(3) (20, 50, 80, 30) (4,) 4
(4)  [20, 50, 80, 30] (4,) 4

Options:-

.1, Option ID :- 625,

. 2, Option ID :- 626,

. 3, Option ID :- 627,

« 4, Option ID :- 628,

Answer Given:- 2, Option ID : -626

Question ID:- 158

Which of the tollowing will help us to read the content of a CSV tile [TEMS.CSV as pandas
Datalrame ?
(1}  IT=pandasread("ITEMS.CSV")
(2) 11 =pandas.readesv(“ITEMS.CSVT)
(3} IT=pandas.csv_read("ITEMS.CSV™)
(4) IT=pandas.read_csv("ITEMS.CSV")

fr=farfEa 4 9 %7 299 920 2er%E & B9 H [TEMS.CSV e & @l & 924 H HaEmdl F0 7
(1)  IT=pandas.read("ITEMS.C5V")

(2} IT=pandas.readcsv(“ITEMS.CSV")

(3)  IT=pandas.csv_read("[TEMS.CSVT)

(4) IT=pandas.read_csv("ITEMS.CSV™)

Options:-

.1, Option ID :- 629,
. 2, Option ID :- 630,
. 3, Option ID :- 631,
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. 4, Option ID :- 632,
Answer Given:- 4, Option ID : -632

Question ID:- 159

Consider the following import command :

import matplotlib.pvplot as PLT

Which of the following command will help us to draw a Ime chart for given values ?
(1)  PLT.dineplot([100, 400, 200, 300])

(2)  PLT.plotline([100, 400, 200, 300])

(3)  PLT.line([100, 400, 200, 300])

(4)  PLT.plot([L00, 400, 200, 300])

frferfEs T0r (import) A2 T =R FIE0

import matplotlib.pyplot as PLT

frfafas 0 | = 9 ®aiE 50 0 04 & fou U8 oEgq 92 =44 H SJ@rEd) S0 2
(1)  PLT.lineplot([100, 400, 200, 300])

(2) PLT.plotline([100, 400, 200, 300])

(3)  PLT.line([100, 400, 200, 300])

(4)  PLT.plot([100, 400, 200, 300])

Options:-

.1, Option ID :- 633,

. 2, Option ID :- 634,

. 3, Option ID :- 635,

. 4, Option ID :- 636,

Answer Given:- 3, Option ID : -635

Question ID:- 160

Which of the following is DDL command ?
(1) UPDATL SLET

(2) DELETL

(3)  DROP TABLE

(4) INSERT INTO

foreaferfia © & #7451 U DDL 9 3 7
(1) UPDATE SET

(2} DELETE

(3) DROP TABLE

(4) INSERT INTO

Options:-

.1, Option ID :- 637,
. 2, Option ID :- 638,
« 3, Option ID :- 639,
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. 4, Option ID :- 640,
Answer Given:- 3, Option ID : -639

Question ID:- 161

Which of the following is DML command ?
(1) INSERT INTO

(2) DROP TADLL

(3) CREATE TABLL

(4)  ALTER TABLE

frfafea 9 9 =98 9 oF DML 72 € 7
(1) INSERT INTO

(2}  DROP TABLE

(3)  CREATE TABLE

(4) ALTER TABLE

Options:-

.1, Option ID :- 641,

. 2, Option ID :- 642,

. 3, Option ID :- 643,

. 4, Option ID :- 644,

Answer Given:- 1, Option ID : -641

Question ID:- 162

An attribute or a set ot attributes which are used to identity a tuple uniquely is known as :
(1)  Primary Key

(2) Toreign Key

(3)  Alternate Key

(4) Candidate Key

- n

(Rl 790 = 31Tgd ™ B9 F TeaH- o (o0 T TV ( 312592 ) 394 70 o 8 ®] # Fed & 7
(1)  Primary Key

(2} Foreign Key

(3)  Alternate Key
(4)  Candidate Key

Options:-

.1, Option ID :- 645,

. 2, Option ID :- 646,

. 3, Option ID :- 647,

. 4, Option ID :- 648,

Answer Given:- 1, Option ID : -645

Question ID:- 163
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(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

< =

< >

= >

< =

< >

=

Options:-

.1, Option ID :- 649,
« 2, Option ID :- 650,
. 3, Option ID :- 651,
. 4, Option ID :- 652,
Answer Given:- 4, Option ID : -652

Question ID:- 164

SELECT =
SELECT =

SELECT
SELECT +
SELECT +
SELECT +

Options:-

.1, Option ID :- 653,
« 2, Option ID :- 654,
. 3, Option ID :- 655,
. 4, Option ID :- 656,
Answer Given:- 1, Option ID : -653

Question ID:- 165

Which of the tollowing is not a valid relational operator used in SQL ?

fr=fafEa § 9 ®m W SQL 1 T UF 0 F-90F 377902 T4l © 7

Which of the following is using wrong syntax tor a SELECT query in SQL ?
SELECT =
SELECT =

WHERE RNO=100 FROM STUDENT;

FROM STUDENT WHERLE RNO>100;

FROM STUDENT WHERE RNO BETWEEN 100 AND 200;
FROM STUDENT WHERE RNO IIN (100, 101, 105, 104);

SQL H T SELECT % o0 Teta i -T2 (syntax) 1 920 Fefatea o 5 e fo w27

WHERE RNO=>100 FROM STUDENT;

FROM STUDLENT WHLERL RNO=100;

FROM STUDENT WHLERE RNO BETWEEN 100 AND 200,
FROM STUDENT WHERE RNO IN (100, 101, 105, 104);
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Which ot the tollowing will be the correct SOL command to add a new column FLES in a table
TEACHER ?

(1)  ALTER TABLE TEACHER
ADD COLUNN FEES FLOAT,;
(2)  ADD COLUMN I'LLES TLOAT
INTO TRACHLR;
(3)  UPDATL TEACHLER
ADD COLUMN FEES FLOAT,;
(4) INSERT INTO TEACHER
ADD COLUMN FEES FLOAT,;

&l TEACHER 2@ # UF 741 FEES FiaH S84 & fod 7t SQL FHig Fefatad 4 § &M o &7
(1)  ALTER TABLE TEACHER
ADD COLUMN FEES FLOAT;
(2)  ADD COLUMN FLES FLOAT
INTO TEACHER;
(3) UPDATE TEACHER
ADD COLUMN FEES FLOAT;
(4) INSERT INTO TEACHER
ADD COLUMN FEES FLOAT;

Options:-

.1, Option ID :- 657,

. 2, Option ID :- 658,

. 3, Option ID :- 659,

. 4, Option ID :- 660,

Answer Given:- 1, Option ID : -657

Question ID:- 166

Which ot the following will display a list of tables in a database ?
(1)  DISPLAY TABLLS;

(2) SHOW TALES;

(3)  SELECT TABLES;

(4) VIEW TABLES;

foHl =eEH (DATABASE) 5 7ad (TABLES) F=1 &1 T3 9ar w=fea famn smom 2
(1) DISPLAY TABLES;

(2} SHOW TALES;

(3)  SCLECT TABLES;

(4)  VIEW TABLES;

Options:-
.1, Option ID :- 661,
. 2, Option ID :- 662,
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. 3, Option ID :- 663,
. 4, Option ID :- 664,
Answer Given:- 4, Option ID : -664

Question ID:- 167

Which of the tollowing will display information about all the employees from emplovee table,
whose names contains second letter as “A” 7

(1) SELECT # FROM EMPLOYEE WHERE NAME LIKE “_A%";
(2}  SELECT # FROM EMPLOYEL
WHERE NAME LIKE “%A_7;
(3)  SELECT # FROM EMPLOYEL
WHERE NAME LIKE A%
(4)  SLLECT = FROM EMPLOYLL
WHERLE NAME ="_A"";

f&Ht EMPLOYEE Table ¥ Hit =11, f5F 919 &1 200 @957 * A’ &, & 91 H SR foge & fao
feRaRT WA Tema o 2
(1)  SLLECT * FROM LMPLOYEE WHERE NAME LIKE " AN
{2) SELECT # FROM ENPLOYEL
WHERE NANE LIKE “% A "7
(3)  SELECT = FROM EMPLOYEE
WHERE NAME LIKE “ A%
(4} SELLECT = FROM EMPLOYLE
WHERE NAME ="_A%";

Options:-

.1, Option ID :- 665,

« 2, Option ID :- 666,

« 3, Option ID :- 667,

« 4, Option ID :- 668,

Answer Given:- 1, Option ID : -665

Question ID:- 168

Which ot the following SQL command will help in incrementing values of FELES column in
STUDENT table by 10% 7

(1)  UPDATE STUDENT

ASSIGN FEES =FEES = 1.1;




frfafad § 9 =9 O SQL F92 STUDENT 2ad | FEES &t & a2d 80 1 &1 10% ggM 5 Temd
(1)  UPDATE STUDENT
ASSIGN FEES=FEES + 1.1;
(2)  UPDATE STUDENT
SET FEES=TFEES + 1.1;
(3) UPDATE STUDENT
SET FELS = TEES # 10%;
(4) UPDATE STUDENT
SET FEES 10%;

Options:-

.1, Option ID :- 669,

« 2, Option ID :- 670,

« 3, Option ID :- 671,

. 4, Option ID :- 672,

Answer Given:- 2, Option ID : -670

Question ID:- 169

Which of the following is correct sequence in a SELECT query ?

(1) SELECT, FROM, WHERE, GROUTP BY, HAVING, ORDER BY
(2) SELLECT, WHERE, F'ROM, GROUT BY, HAVING, ORDLR BY
(3)  SELECT, FROM, WHERE, HAVING, GROUP BY, ORDER BY
(4)  SELECT, FROM, WHERE, GROUP BY, ORDER BY, HAVING

SELECT 9o9 H &4 91 w1 Ter 2 2

(1) SELECT, FROM, WHERE, GROUT BY, HAVING, ORDER BY
(2)  SELECT, WHERE, FROM, GROUT BY, HAVING, ORDER BY
(3)  SELECT, FROM, WHERE, HAVING, GROUP BY, ORDER BY
(4) SLELLCT, FROM, WHEREL, GROUT BY, ORDLR BY, HAVING
Options:-

.1, Option ID :- 673,
. 2, Option ID :- 674,
« 3, Option ID :- 675,
. 4, Option ID :- 676,
Answer Given:- 1, Option ID : -673

Question ID:- 170
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Consider the f(_)lluwh'tg tables and their respective degrees and cardinalities in a database called

SCHOOL -
Database : SCHOOL
Table Degree Cardinality
STUDENT 20 300
TEACHER 10 25

Select the degree and cardinality of the cartesian product of the tables STUDENT x TEACHER
from the tollowing options :

(1) 30 7500

(2) 200 325
(3) 30 325
(4) 200 7500

fREl SCHOOL DATABASE H fAefetiazd |07 (table) S 35 Ha(ad T2U7 (degree) T4 Fi e
(cardinality) 9% fe=m ifsiu

Database : SCHOOL
Table Degree Cardmality
STUDENT 20 300
TEACHER 10 25

ffafea fawed § 9 STUDENT x TEACHER HRU 5 #Fdi4 Fe0e (Cartesian product) @1 T220T
(Degree) 3R B EfAD] (Cardinality) =l =27 IS0
(1) 30 7500

(2) 200 325
(%) 30 325
(4) 200 7500

Options:-

.1, Option ID :- 677,

. 2, Option ID :- 678,

. 3, Option ID :- 679,

« 4, Option ID :- 680,

Answer Given:- 1, Option ID : -677
Question ID:- 171

Which of the following set ot functions is a valid set of ageregate tunctions in MySQL ?
(1)  AVG(), ROUND( ), COUNT( )

(2)  MIN(), UPPER( ), AVG()

(3)  COUNT( ), MAX(), SUM()

(4)  DATE(), COUNT( j, LTRIM( )
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FefafEd # 5 F4 H & (Function) T98 MySQL o W e (Aggrecate tunchons) k1 A JHHE
72

(1) AVG( ), ROUND( ), COUNTY( )

(2)  MIN(), UPPER{ ), AVG()

(3)  COUNT( ), MAX( ), SUM( )

(4)  DATE(), COUNT( ), LTRIM( )

Options:-

.1, Option ID :- 681,

« 2, Option ID :- 682,

. 3, Option ID :- 683,

« 4, Option ID :- 684,

Answer Given:- 3, Option ID : -683

Question ID:- 172

Find the output of the MySQL query based on the given Table-COACH (ignore the output header)
Table : COACH

Cip CNAME GAME SALARY
GO03 VSHALI NULL 60000
GU5 YUVRAJA CRICKET NULL
GO8 MALKHAN | ATHLATICS 80000
GuY SACINDRA CRICKET NULL

Query :

SELECT COUNT(GAME), AVG(SALARY)
FROM COACH;

(1) 3 70000

(2) 4+ 35000
(3) 4 70000
4) 3 35000
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= Al TE WA (Table) -COACH (#3292 2T &1 Tssiare F1) T 371G MySQL 794 #3322
1 AT FHITAT :
Table : COACH

C1D CNAME GAME SALARY

GO3 VSHALL NULL 60000

G05 YUVRATA CRICKET NULL

GO8 MALKHAN | ATHLATICS 50000

GOY SACINDRA CRICKET NULL
Query :

SELECT COUNT(GAME), AVG(SALARY)
FROM COACH;
(1) 3 70000
(2) 4 335000
(3) 4 70000
) 3 35000

Options:-

.1, Option ID :- 685,

. 2, Option ID :- 686,

« 3, Option ID :- 687,

. 4, Option ID :- 688,

Answer Given:- 3, Option ID : -687
Question ID:- 173

Find the output of the MySOL query based on the given Table-STUDENT (igmore the cutput header)
Table : STUDENT

S1D SNAME SEC MARKS

101 Ameena A 83

107 Arjun B 26

112 Albert B 80

120 Akram A 85
Query :

SELECT SEC, AVG (MARKS) FROM STUDENT
GROUDP BY SEC HAVING MIN (MARKS) > 80;

() B 83
(2) A 84
(3)

(R ]
i

(4)

oo Wk
sl
43

80
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a1 TE WA (Table)-STUDENT W s MySQL U9 &% 33272 &1 Fd &0 (27322 9 #
Table : STUDENT

51D SNAME SEC MARKS

101 Ameena A 83

107 Arnjun B 8o

112 Albert B 80

120 Akram A 85
Query :

SELECT SEC, AVG (MARKS) FROM STUDENT
GROUP BY SEC HAVING MIN (MARKS) = 80;

(1) B 83

(2) A 84

(3) A 84

B 83

4y A 83

B 80
Options:-

.1, Option ID :- 689,

« 2, Option ID :- 690,

. 3, Option ID :- 691,

. 4, Option ID :- 692,

Answer Given:- 1, Option ID : -689
Question ID:- 174

Consider the fnﬂuwing tables in a database called SPORTS.
Database : SPORTS

Table : GANES Table : PLAYERS
GID | GNAME | FEES P1D |PNAME| SEX GID
GO1 Football 300 P101 Amrita F GO3
G02 Cricket 1000 P103 [ Ameena F G02
G053  |Basketball] 500 107 Angel F Go2
P109 Aman M Go3

Which is the best command from the following options to display the name of the plaver (PNAME)
and their respective games (GNAME)
(1)  SELECT PNAME, G1D FROM PLAYERS ;
{2} SELECT PNAME, GNAME FROM GAMES, PLAYERS
WHERE GAMES.GID = PLAYERS.GID ;
(3}  SLELLECT PNAME, GNAML FROM GAMELS, PLAYERS ;
(4) SELECT PNAME, GNAME FROM GAMES, PLAYLERS
WHERE P.GID=G.GID ;
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frfafas JEfrT (Tables) ¥ SPORTS A% SPEME T @91 170 .
Database : SPORTS

Table : GAMES Table : PLAYERS
GID | GNAME | FEES P1D  [PNAME| SEX GID
GO1 Football 300 r1ot Amurita F GO3
G032 Cricket 1000 P103 | Ameena F GO2
G03  [Basketball] 500 P107 Angel F G02
rio9 Aman M GOz

faeldl (PNAME) #0103 Hefd @e (GNAME) & ™ o wefdld 3 o forn Tafafad faged §

e TS A T E 7

(1} SELECT PNAME, GID FROM PLAYERS ;

(2)  SELECT PNAME, GNAME FROM GAMES, PLAYERS
WHERE GAMES.G1D = PLAYERS.G1D ;

(3)  SELECT PNAME, GNAME FROM GAMES, PLAYERS ;

(4)  SELECT PNAME, GNAME FROM GAMES, PLAYERS
WHERE P.GID=G.G1D ;

Options:-

.1, Option ID :- 693,

. 2, Option ID :- 694,

. 3, Option ID :- 695,

. 4, Option ID :- 696,

Answer Given:- 4, Option ID : -696

Question ID:- 175
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Following are the two tables in a MySQL database.
Database : COMPARTMLENT

Table : SUBJECTS Table : RESULT
SUBCODE| SUBNAME | MAXT|MAXD ROLL |SUBCODE | TMARKS | PMARKS
Informatics
065 } 70 30 10045 083 70 30
Practices
Computer s )
083 o 70 a0 10135 065 56 29
Science
301 English Core| 80 20 10231 065 63 20
10345 083 hé 29

Select the command from the followmg options to display subjects (SUBNAME) and number of

students registered in that subject m table RESULT.
SELECT SUBNAME, COUNT(*)
FROM SUBJECTS, RESULT GROUP BY SUBNAME ;
SELECT SUBNAME, COUNT (x)
FROM SUBJECTS, RESULT ORDER BY SUBNAME ;
SELECT SUBNAME, COUNT (=)
FROM SUBJECTS NATURAL JOIN RESULT ORDER BY SUBNAME ;
SELECT SUBNAME, COUNT (#)
FROM SUBJECTS NATURAL JOIN RESULT GROUP BY SUBNAMLEL ;

(1)
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MySQL @ & AT (Tables) & T # .
EEEH : COMPARTMENT

Table - SUBJECTS Table : RESULT
SUBCODE| SUBNAME | MAXT[MAXP ROLL |SUBCODE | TMARKS | PMARKS
. Informatics
065 ] 70 30 10045 083 70 20
Practices
Computer - ,
083 o 70 30 10135 065 56 29
Science
301 English Core| 80 20 10231 065 63 20
10345 083 56 29

Subjects (SUBNAME) 3% AR - RESULT ® 55 o™ 9 2= 9] &1 T &1 g9 & fom i
foFem o | FHE &1 999 &I
(1) SELECT SUBNAME, COUNT ()
FROM SUBJECTS, RESULT GROUDP BY SUBNAML ;
(2)  SELECT SUBNAME, COUNT (#)
FROM SUBJECTS, RESULT ORDER BY SUBNAME ;
(3)  SELECT SUBNANME, COUNT (%)
FROM SUBJECTS NATURAL JOIN RESULT ORDER BY SUBNAME ;
(4) SELLCT SUBNAMEL, COUNT ()
FROM SUBJECTS NATURAL JOIN RESULT GROUTP BY SUBNAME ;

Options:-

.1, Option ID :- 697,

. 2, Option ID :- 698,

« 3, Option ID :- 699,

. 4, Option ID :- 700,

Answer Given:- 4, Option ID : -700

Question ID:- 176

To establish the Python-MyS0QL connection, connect( ) method is used with certain parameters or
arguments. Which of the following 1s not a parameter/argument used with connect( ) method ?
{1y user

(2} password

(3)  database

(4) table
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Py thon-MySQL H5% (conmection) T=Te FIA o e £ TOHZE A aF] F WY connect( REICIE
TR TR S E | connect( ) @ = ey FreatEa § § e ey ad 1 aEn G968 am @ 2

(1) user

(2)  password
(3) database
(4) table

Options:-

.1, Option ID :- 701,

« 2, Option ID :- 702,

. 3, Option ID :- 703,

« 4, Option ID :- 704,

Answer Given:- 1, Option ID : -701

Question ID:- 177

commit( ) is required to be used after the execution ot certain queries in Python-MySQL connectivity
applications. ldentify one such MySQL command out of the following options :

(1) CREATE

(2) INSERT

(3)  SLLECT

(4) DROP

Pythoen-MySQL FAR @ | connectivity) TATETA | EX] T9 & e F 9= commit() <kl T
T =i sTafemm & | faefartea fasredl o | 086 T8 MySQL FH18 &1 989 whifa

(1) CREATL

(2)  INSERT

(%) SELECT

(4) DROTP

Options:-

.1, Option ID :- 705,

. 2, Option ID :- 706,

« 3, Option ID :- 707,

« 4, Option ID :- 708,

Answer Given:- 3, Option ID : -707
Question ID:- 178

While working on Python-MySQL connectivity, fetchall( ) method is used to get data from table.
The method fetchall( ) returns -
(1) alist

(2)  atuple

(3)  tuple of lists

(4) list of tuples
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Py thon-MySQL AR (connectivity) T H &id T4, AR J =12 994 F1 & Tod fetchall T30
1 7T faRan S 21 fetchall B8 9998 (return) F91 2
(1) alist

(2)  atuple

(3)  tuple of lists
(4)  list of tuples

Options:-

.1, Option ID :- 709,

« 2, Option ID :- 710,

. 3, Option ID :- 711,

« 4, Option ID :- 712,

Answer Given:- 1, Option ID : -709

Question ID:- 179

The method cursor( ) is used in Python-MySQL connectivity applications. This method is @ member
of:

(1) sgqlmodule

(2)  pickle module

(3)  database-connectivity module

(4 csv module

Python-MySQL Frfafate Teftwem o cursor() Tafe =1 w0 fde sna €1 72 faf fFas) o 9ae
@7

(1) syl module

(2)  pickle module

(3)  database-connectivity module

(4)  csv module

Options:-

.1, Option ID :- 713,

. 2, Option ID :- 714,

. 3, Option ID :- 715,

. 4, Option ID :- 716,

Answer Given:- 3, Option ID : -715

Question ID:- 180

Which ot the following clause is used with SELECT command in MySQL to avoid duplication of
output rows.

(1) NO DUPLICATE

(2) UNIQUL

(3)  DISTINCT

(4) NO REPEAT
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(1) NO DUPLICATE

(2)  UNIQUL

(3) DISTINCT

(4) NO RLEILAT

Options:-

.1, Option ID :- 717,
« 2, Option ID :- 718,
. 3, Option ID :- 719,

. 4, Option 1D :- 720,
Answer Given:- 3, Option ID : -719

Print ResponseSheet
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